
CHEMISTRY

BOOKS - MODERN PUBLISHERS CHEMISTRY

(HINGLISH)

GENERAL PRINCIPLES AND PROCESSES OF

ISOLATION OF ELEMENTS

Example

1. In general which metal do you expect to occur in the native

state in nature? Give example.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_xX27Z5yIfH4E
https://dl.doubtnut.com/l/_LJESiew6o2Ka


2. Why do metal sulphides occur mainly in rocks and metal

halides in lakes and seas?

Watch Video Solution

3. Name two examples each of the following types of ores : 

(a) Oxides (b) Sulphides (c) Carbonates (d) Silicates

Watch Video Solution

4. How does sodium cyanide act as depressant in preventing

 from forming the froth ?

View Text Solution

ZnS

https://dl.doubtnut.com/l/_LJESiew6o2Ka
https://dl.doubtnut.com/l/_DXj929hTqjxd
https://dl.doubtnut.com/l/_38olWyK2m2kt


5. What is flux ? How is it useful?

View Text Solution

6. Out of C and CO, which is better reducing agent for ZnO?

Watch Video Solution

7. A part of Ellingham diagram for some metal oxides (Based

upon 1 mole of ) and carbon is shown. 
O2

https://dl.doubtnut.com/l/_cVaiQaI0KKcY
https://dl.doubtnut.com/l/_KlPySlKlXHH0
https://dl.doubtnut.com/l/_5oATmNzrWNsK


 


In figure A,B,C and D represent curves for metal oxides and

a,b,c,d ,e and f are temperatures. Answer the following : 

(i) Will B oxide reduce metal oxide of A or C or both ? 

(ii) Which metal can be reduced thermally ? 

(iii) Will oxide of B be reduced by coke above temperature c or

below temperature c ? 

(iv) Will the formation of CO or  be preferred above

temperature f ? 

(v) What does temperature 'a' represent ?

View Text Solution

CO2

https://dl.doubtnut.com/l/_5oATmNzrWNsK


8. Copper can be extracted by hydrometallurgy but not zinc.

Explain.

Watch Video Solution

9. Free energies of formation  of  and 

 at  and  are given below : 


 


 


 


 


On the basis of above data, predict the temperature at which

carbon can be used as a reducing for agent .

Watch Video Solution

(ΔfGӨ) MgO(s)

CO ( g ) 1273K 2273K

ΔfGӨ (MgO ( s ) ) = − 941kJ /molat1273K

ΔfGӨ (MeO ( s ) ) = − 314kJ /molat2273K

ΔfGӨ (CO ( g ) ) = − 439kJ /molatat1273K

ΔfGӨ (CO ( g ) ) = − 628kJ /molat2273K

MgO ( s )

https://dl.doubtnut.com/l/_5oATmNzrWNsK
https://dl.doubtnut.com/l/_prDWwKhHL3Ry
https://dl.doubtnut.com/l/_Dx1tGlhZoEEN


10. The value of  for the formation of  is 

 and that of  is . Is

reduction of  possible with  ?

View Text Solution

ΔfG∘ Cr2O3

−540KJmol− 1 Al2O3 −827KJmol− 1

Cr2O3 Al

11. Why is the reduction of a metal oxide easier if the metal

formed is in liquid state at the temperature of reduction?

Watch Video Solution

12. At a site, low grade copper ores are available and zinc and

iron scraps are also available. Which of the two scraps would

be more suitable for reducing the leached copper ore and

why?

https://dl.doubtnut.com/l/_lhRQWTymAbCA
https://dl.doubtnut.com/l/_B3sLxlKgNTpU
https://dl.doubtnut.com/l/_K5ZpGZb3EBOq


Watch Video Solution

13. (a) Give one example each of the following: 

(i) Acidic flux (ii) Basic flux 

(b) What happens when 

(i)  undergoes self reduction in a silica line converter. 


(ii) Haematite oxidises carbon to carbon monoxide.

View Text Solution

Cu2O

14. Although thermodynamically feasible, in practice,

magnesium metal is not used for the reduction of alumina in

the metallurgy of aluminium. Why ?

Watch Video Solution

https://dl.doubtnut.com/l/_K5ZpGZb3EBOq
https://dl.doubtnut.com/l/_773T8lteqHXX
https://dl.doubtnut.com/l/_rlpqgGqD1sq6


Conceptual Questions

1. Which method of refining is generally used when a metal of

high degree of purity is needed?

View Text Solution

2. Name the metal used as a reducing agent in

aluminothermie process.

View Text Solution

3. What is basic difference between calcination and roasting?

View Text Solution

https://dl.doubtnut.com/l/_OBDWAcRFJnzK
https://dl.doubtnut.com/l/_l3Js2vqI2K4L
https://dl.doubtnut.com/l/_CVi1YT0NKjmh
https://dl.doubtnut.com/l/_Ktr9erEbexh3


4. Which is the cheapest and most abundant reducing agent

which is used in the extraction of metals ?

View Text Solution

5. Why does  react with  to form a slag?

Watch Video Solution

CaO SiO2

6. Why is the formation of sulphate in calcination sometimes

advantageous ?

Watch Video Solution

https://dl.doubtnut.com/l/_Ktr9erEbexh3
https://dl.doubtnut.com/l/_85qsQBYldOTF
https://dl.doubtnut.com/l/_6chbYVUhUVk1


7. Why Al cannot be reduced by carbon?

Watch Video Solution

8. How does NaCN act as a depressant in preventing ZnS from

forming the froth ?

Watch Video Solution

9. Which is better reducing agent at 983 K, C or CO ?

Watch Video Solution

https://dl.doubtnut.com/l/_HqXlxChyTwhi
https://dl.doubtnut.com/l/_oopaXWsA78mr
https://dl.doubtnut.com/l/_CICLlXUpkqYz


10. Indicate the temperature at which carbon can be used as a

reducing agent for .

Watch Video Solution

FeO

11. Which metals are generally extracted by the electrolytic

processes ? What positions these metals generally occupy in

the periodic table?

Watch Video Solution

12. What is the composition of 'Copper matte'?

Watch Video Solution

https://dl.doubtnut.com/l/_paIrleh6fiwW
https://dl.doubtnut.com/l/_vxH2iE1YInnN
https://dl.doubtnut.com/l/_TLNJSkKqmwHl
https://dl.doubtnut.com/l/_WCu79ANY5R0x


13. What is cupellation ?

Watch Video Solution

14. What type of ores are roasted?

Watch Video Solution

15. Granulated zinc is obtained by

Watch Video Solution

16. What is Kroll process ?

Watch Video Solution

https://dl.doubtnut.com/l/_WCu79ANY5R0x
https://dl.doubtnut.com/l/_WDn4gQoZSNC0
https://dl.doubtnut.com/l/_BOmQ55DjMrzr
https://dl.doubtnut.com/l/_PdiMJkaJ9Eq4
https://dl.doubtnut.com/l/_km8qQNXeA8xy


17. The iron obtained from the blast furnace is called:

Watch Video Solution

18. Describe the principle of froth flotation process. What is

the role of a stabiliser and of a depressant ? Give one example

of each.

Watch Video Solution

19. Name three forms of iron. How do these three forms

differ?

Watch Video Solution

https://dl.doubtnut.com/l/_km8qQNXeA8xy
https://dl.doubtnut.com/l/_vCfqA3F4NuS6
https://dl.doubtnut.com/l/_kUkP7loEp52H


20. Reducing agent of haematite in blast  furnace is

Watch Video Solution

−

21. (a) What is a slag ? 

(b) Give the principle of zone refining ? 

( c) An ore sample of galena  is contaminated with zinc

blende . Give an example of a chemical which can be

used to concentrate galena selectively by froth flotation

process. 

(d) What is meant by the term 'Pyrometallurgy' ?

Watch Video Solution

(PbS)

(ZnS)

https://dl.doubtnut.com/l/_MLmmcv0aZOLU
https://dl.doubtnut.com/l/_uM7fZwbf95RL


22. Name the method used for the refining of (i) Nickel (ii)

Zirconium.

Watch Video Solution

23. Pine oil is generally added in the froth floatation process.

Explain.

Watch Video Solution

24. Giving examples differentiate between roasting and

calcination.

Watch Video Solution

https://dl.doubtnut.com/l/_qdhM8SB9T51O
https://dl.doubtnut.com/l/_XFZTvD8m15I1
https://dl.doubtnut.com/l/_nUcg0g7mFcAu
https://dl.doubtnut.com/l/_iY6np75GtF4Q


25. What is meant by benefaction process ?

Watch Video Solution

26. Write the equation of the net reaction taking place in Hall

Heroult electrolytic method for the collection of aluminium ?

Watch Video Solution

27. Why is the froth flotation method selected for the

concentration of Sulphide ores ?

Watch Video Solution

https://dl.doubtnut.com/l/_iY6np75GtF4Q
https://dl.doubtnut.com/l/_8yEN2lVOlvwG
https://dl.doubtnut.com/l/_CQS6B8HcJ1dC


28. Which of the following reactions taking place in the blast

furnace during extraction of iron is endothermie ?

Watch Video Solution

29. Why Al cannot be reduced by carbon?

Watch Video Solution

30. What is the role of flux in metallurgical processes?

Watch Video Solution

https://dl.doubtnut.com/l/_xuargfhUBCQa
https://dl.doubtnut.com/l/_NkpfHVP8Max6
https://dl.doubtnut.com/l/_w0Uye91zYhcH


31. Out of C and CO which is a better reducing agent for Feo. 

(i) In the lower part of blast furnace (Higher temperature) 

(ii) In the upper part of blast furnace (Lower temperature)

View Text Solution

32. Name the method of refining of metals such as

germanium.

Watch Video Solution

33. (i) Name the method of refining of metals such as

Germanium. 

(ii) In the extraction of Al, impure  is dissolved in conc.

NaOH to form sodium aluminate and leaving impurities

Al2O3

https://dl.doubtnut.com/l/_3HUddWYmZc1D
https://dl.doubtnut.com/l/_Jom7EQmeQFfR
https://dl.doubtnut.com/l/_hYojwsSbZ2uN


behind. What is the name of this process? 

(iii) What is the role of coke in the extraction of iron from its

oxides?

Watch Video Solution

34. Name the method of refining which is based on the

principle of adsorption.

Watch Video Solution

35. (i) What is the role of cryolite in the extraction of

aluminium ? 

(ii) What is the role of limestone in the extraction of iron from

its oxides ?

Watch Video Solution

https://dl.doubtnut.com/l/_hYojwsSbZ2uN
https://dl.doubtnut.com/l/_aWY7jlCfylZn
https://dl.doubtnut.com/l/_jp58kexHxnSs


Watch Video Solution

36. (i) Name the method of refining of metals such as

Germanium. 

(ii) In the extraction of , impure  is dissolved in conc. 

 to form sodium aluminate and leaving impurities

behind. What is the name of this process? 

(iii) What is the role of coke in the extraction of iron from its

oxides?

Watch Video Solution

Al Al2O3

NaOH

37. (a) Write the principle of method used for the refining of

germanium. 

(b) Out of  and  (ores of lead), which one is

concentrated by froth floatation process preferably ? 

PbS PbCO3

https://dl.doubtnut.com/l/_jp58kexHxnSs
https://dl.doubtnut.com/l/_cyvtGRIT56O6
https://dl.doubtnut.com/l/_diCCGmkenkok


Ncert File Ncert In Text Questions

(c) What is the significance of leaching in the extraction of

aluminium ?

Watch Video Solution

38. What is the role of collectors in Froth Floatation process ?

Watch Video Solution

39. What is the role of depressant in froth floatation process?

Watch Video Solution

https://dl.doubtnut.com/l/_diCCGmkenkok
https://dl.doubtnut.com/l/_7Jli2UR8x3bb
https://dl.doubtnut.com/l/_8qdofJAd2oAC


1. What type of ores can be concentrated by magnetic

separation method ?

Watch Video Solution

2. What is the significance of leaching in the extraction of

aluminium?

Watch Video Solution

3. The reaction 

  


Is thermodynamically feasible as is apparent from the Gibbs

energy value. Why does it not take place at room

temperature?

Cr2O3 + 2A < oAl2O3 + 2Cr ( △ Gɵ = − 421kJ))

https://dl.doubtnut.com/l/_teEGAVJAMinT
https://dl.doubtnut.com/l/_WkHVxr26q1Ue
https://dl.doubtnut.com/l/_TwbYMKVy0Dvj


Ncert File Ncert Textbook Exercises

Watch Video Solution

4. The under certain conditions magnesium can be reduce

 and silicon can reduce MgO. What are those conditions?

Watch Video Solution

SiO2

1. Copper can be extracted by hydrometallurgy but not zinc.

Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_TwbYMKVy0Dvj
https://dl.doubtnut.com/l/_lQbE2YjVJP99
https://dl.doubtnut.com/l/_hjQ8ljtVzooO


2. What is the role of depressant in froth floatation process?

Watch Video Solution

3. Why is the extraction of copper from pyrites more difficult

than that from its oxide ore through reduction?

Watch Video Solution

4. Explain: 

(i). Zone refining 

(ii). Column chromatography.

Watch Video Solution

https://dl.doubtnut.com/l/_8Cyb6ITMDo9s
https://dl.doubtnut.com/l/_bSn3f8iMjcA9
https://dl.doubtnut.com/l/_vojaCcVJhw5g
https://dl.doubtnut.com/l/_xFh5CEqV5Ipq


5. Out of C and CO, which is a better reducing agent at 673K?

Watch Video Solution

6. Name the common elements present in the anode mud in

electrolytic refining of copper. Why are they so present?

Watch Video Solution

7. Write down the reactions taking place in different zones in

the blast furnace during the extraction of iron.

Watch Video Solution

https://dl.doubtnut.com/l/_xFh5CEqV5Ipq
https://dl.doubtnut.com/l/_SPFd3AWuW35C
https://dl.doubtnut.com/l/_WikJhbOES0Pa


8. Write down the chemical reactions taking place in the

extraction of zinc from zinc blende.

Watch Video Solution

9. State the role of silica in the metallurgy of copper.

Watch Video Solution

10. What is meant by the term "chromatography"?

Watch Video Solution

https://dl.doubtnut.com/l/_AKmiz5zoNxPH
https://dl.doubtnut.com/l/_fMbsTuVW9evy
https://dl.doubtnut.com/l/_4DcN1U7KEyVZ


11. What criterion is followed for the selectrion of the

stationary phase in chromatography?

Watch Video Solution

12. Describe a method for refining nickel.

Watch Video Solution

13. How can you separate alumina from silica in a bauxite ore

associated with silica? Give equations, if any.

Watch Video Solution

https://dl.doubtnut.com/l/_c43jCoLnA3m0
https://dl.doubtnut.com/l/_qNgKWYLuh73P
https://dl.doubtnut.com/l/_p0y85a2vCySV


14. Giving examples differentiate between roasting and

calcination.

Watch Video Solution

15. How is ‘cast iron’ different from ‘pig iron”?

Watch Video Solution

16. Differentiate between “minerals” and “ores”.

Watch Video Solution

17. Why copper matte is put in silica lined converter?

h id l i

https://dl.doubtnut.com/l/_NWtE0PLIlxQo
https://dl.doubtnut.com/l/_mFDyb4JKK9GW
https://dl.doubtnut.com/l/_bf5HvHwyXAuS
https://dl.doubtnut.com/l/_Tp6RtKoLRaJy


Watch Video Solution

18. (a) Give an example of zone refining of metals.

(b) What is the role of cryolite in the metallurgy of

aluminium?

Watch Video Solution

19. How is leaching carried out in case of low grade copper

ores?

Watch Video Solution

20. Why is zinc not extracted from zinc oxide through

reduction using CO?

https://dl.doubtnut.com/l/_Tp6RtKoLRaJy
https://dl.doubtnut.com/l/_JBUPhSMaxaTS
https://dl.doubtnut.com/l/_UdyHoo3IZZVt
https://dl.doubtnut.com/l/_ymxLzoUudnUU


Watch Video Solution

21. The value of  for the formation of  is -540 KJ 

 and that of  is -827 KJ . Is reduction of 

 possible with Al ?

Watch Video Solution

ΔfG∘ Cr2O3

mol− 1 Al2O3 mol− 1

Cr2O3

22. Out of C and CO, which is better reducing agent for ZnO?

Watch Video Solution

23. The choice of a reducing agent in a particular case

depends on thermodynamic factor. How far do you agree with

this statement ? Support your opinion with example.

https://dl.doubtnut.com/l/_ymxLzoUudnUU
https://dl.doubtnut.com/l/_VdoBYRWHeHGr
https://dl.doubtnut.com/l/_zFHZdzfhRyuP
https://dl.doubtnut.com/l/_NWbGMUe63fGb


Watch Video Solution

24. Name the processes from which chlorine is obtained as a

by-product. What will happen if an aqueous solution of NaCl

is subjected to electrolysis?

Watch Video Solution

25. What is the role of graphite rod in the electrometallurgy

of aluminium?

Watch Video Solution

26. Outline the principles of refining of metals by the

following methods : 

https://dl.doubtnut.com/l/_NWbGMUe63fGb
https://dl.doubtnut.com/l/_mlhIKoWJXON0
https://dl.doubtnut.com/l/_LPk8jIWrTDGl
https://dl.doubtnut.com/l/_YrTT7gFavYIr


Ncert File Ncert Exemplar Problems Multiple Choice Questions

Type I

(a) Electrolytic refining 

(b) Zone refining 

( c) Vapour phase refining.

Watch Video Solution

27. Predict conditions under which Al might be expected to

reduce MgO.

Watch Video Solution

1. In the extraction of chlorine by electrolysis of brine_________.

https://dl.doubtnut.com/l/_YrTT7gFavYIr
https://dl.doubtnut.com/l/_pPCqVjwMIxb9
https://dl.doubtnut.com/l/_BTTYwFBnYEzG


A. oxidation of  ion to chlorine gas occurs.

B. reduction of  ions to chlorine gas occurs.

C. for overall reaction  has negative value.

D. a displacement reaction takes places.

Answer: C

Watch Video Solution

Cl− 1

Cl−

ΔGө

2. When copper ore is mixed with silica in a reverberatory

furnace, copper matte is produced. The copper matter

contains__________

A. sulphides of copper (II) and iron (II)

B. sulphides of copper (II) and iron (III)

https://dl.doubtnut.com/l/_BTTYwFBnYEzG
https://dl.doubtnut.com/l/_o3diH68teKaW


C. sulphides of copper (I) and iron (II)

D. sulphides of copper (I) and iron (III)

Answer: C

Watch Video Solution

3. Which one of the following reactions is an example of auto-

reduction?

A. 

B. 

C. 

D. 

Answer: D

Fe3O4 + 4CO → 3Fe + 4CO2

Cu2O + C → 2Cu + CO

Cu2 + (aq) + Fe(s) → Cu(s) + Fe2 + (aq)

Cu2O + Cu2S → 3Cu + SO2

1

2

1

2

https://dl.doubtnut.com/l/_o3diH68teKaW
https://dl.doubtnut.com/l/_qbXPqrzEPvpO


Watch Video Solution

4. A number of elements are available in earth's crust but

most abundant elements are___________

A.  and 

B.  and 

C.  and 

D.  and 

Answer: A

Watch Video Solution

Al Fe

Al Cu

Fe Cu

Cu Ag

5. Zone refining is based on the principle that

https://dl.doubtnut.com/l/_qbXPqrzEPvpO
https://dl.doubtnut.com/l/_MnIb9f7yyPZA
https://dl.doubtnut.com/l/_M9BuzrVpuwyB


A. impurities of low boiling metals can be separated by

distillation.

B. impurities are more soluble in molten metal than in

solid metal.

C. different components of a mixture are differently

adsorbed on an adsorbent.

D. vapours of volatile compound can be decomposed in

pure metal.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_M9BuzrVpuwyB


6. In the extraction of  from its sulphide ore, the metal is

formed by reduction of  with

A. FeS

B. CO

C. 

D. 

Answer: C

Watch Video Solution

Cu

Cu2O

Cu2S

SO2

7. Brine is electrolysed by using inert electrodes. The reaction

at anode is_______

https://dl.doubtnut.com/l/_YGAsWJjf6nEm
https://dl.doubtnut.com/l/_oBNj1xKl1E8B


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Cl− (aq) → Cl2(g) + e − , E
ө

Cell
= 1.36V

1

2

2H2O(l) → O2(g) + O2(g) + 4H + + 4e − , E
ө

Cell
= 1.23V

Na + (aq) + e − → Na(s), E
ө

Cell
= 2.71V

H + (aq) + e − → H2(g), E
ө

Cell
= 0.00V

1

2

8. In the metallurgy of aluminium,

A.  is oxidised to (s).

B. graphide anode is oxidised to carbon monoxide and

carbon dioxide.

Al3 + Al

https://dl.doubtnut.com/l/_oBNj1xKl1E8B
https://dl.doubtnut.com/l/_AVJSI4vFdA7l


C. oxidation state of oxygen changes in the reaction at

anode.

D. oxidation state of oxygen changes in the overall

reaction involved in the process.

Answer: B

Watch Video Solution

9. Electrolytic refining is used to purify which of the following

metals ?

A. 

B. 

C. 

Cu and Zn

Ge and Si

Zr and T i

https://dl.doubtnut.com/l/_AVJSI4vFdA7l
https://dl.doubtnut.com/l/_WKDhbEWtGQeb


D. 

Answer: A

Watch Video Solution

Zn and Hg

10. Extraction of gold and silver involves leaching the metal

with  ion. The metal is recovered by :

A. displacement of metal by some other metal from the

complex ion.

B. roasting of metal complex.

C. calcination followed by roasting.

D. thermal decomposition of metal complex.

Answer: A

CN −

https://dl.doubtnut.com/l/_WKDhbEWtGQeb
https://dl.doubtnut.com/l/_reyxJolubn1F


Watch Video Solution

11. Choose the correct option of temperature at which carbon

reduced  to iron and produces 

A. Below temperature at point A.

B. Approximately at the temperature corresponding to

point A.

FeO CO

https://dl.doubtnut.com/l/_reyxJolubn1F
https://dl.doubtnut.com/l/_vOc9iLaMunQO


C. Above temperature at point A but below temperature at

point D.

D. Above temperature at point A.

Answer: D

Watch Video Solution

12.  


Below point 'A' FeO can __________ .

https://dl.doubtnut.com/l/_vOc9iLaMunQO
https://dl.doubtnut.com/l/_7MC1j4FklML5


A. be reduced by carbon monoxide only.

B. be reduced by both carbon monoxide and carbon.

C. be reduced by carbon only.

D. not be reduced by both carbon and carbon monoxide.

Answer: A

Watch Video Solution

13. For the reduction of  at the temperature

corresponding to point D, which of the following statements

FeO

https://dl.doubtnut.com/l/_7MC1j4FklML5
https://dl.doubtnut.com/l/_jAhca1SfqiTS


is correct?


A.  value for the overall reduction reaction with carbon

monoxide is zero.

B.  value for the overall reduction reaction with a

mixture of 1 mol carbon and 1 mol oxygen is positive.

C.  value for the overall reduction reaction with a

mixture of 2 mol carbon and 1 mol oxygen will be

positive.

ΔG

ΔG

ΔG

https://dl.doubtnut.com/l/_jAhca1SfqiTS


Ncert File Ncert Exemplar Problems Multiple Choice Questions

Type Ii

D.  value for the overal reduction reaction with carbon

monoxide is negative .

Answer: A

Watch Video Solution

ΔG

1. At the temperature corresponding to which of the points in

Fig.  will be reduced to Fe by coupling the reaction 

 with all of the following reactions? 


(a)  (b)  and (c) 

FeO

2Fe → 2Fe + O2

C + O2 → CO2 2C + O2 → 2CO

2CO + O2 → 2CO2

https://dl.doubtnut.com/l/_jAhca1SfqiTS
https://dl.doubtnut.com/l/_i4TuVlWbSUfA


A. Point A

B. Point B

C. Point D

D. Point E

Answer: B::D

Watch Video Solution

2. Which of the following options are correct ?

A. Cast iron is obtained by remelting pig iron with scrap

iron and coke using hot air blast.

B. In extraction of silver, silver is extracted as cationic

complex.

https://dl.doubtnut.com/l/_i4TuVlWbSUfA
https://dl.doubtnut.com/l/_mJM4pyePlusI


C. Nickel is purified by zone refining.

D. Zr and Ti are purified by van Arkel method.

Answer: A::D

Watch Video Solution

3. In the extraction of aluminium by Hall-Heroult process

purified  is mixed with  to

A. lower the melting point of .

B. increase the conductivity of molten mixture.

C. reduce  into Al(s).

D. acts as catalyst.

Answer: A::B

Al2O3 CaF2

Al2O3

Al3 +

https://dl.doubtnut.com/l/_mJM4pyePlusI
https://dl.doubtnut.com/l/_roXlVT7b5ANs


Watch Video Solution

4. Which of the following statements is correct about the role

of substances added in the froth floation processs ?

A. Collectors enhance the non-wettability of the mineral

particles.

B. Collectors enhance the wettability of gangue particles.

C. By using depressants in the process two sulphide ores

can be separated.

D. Froth stabilisers decrease wettability of gangue.

Answer: A::C

Watch Video Solution

https://dl.doubtnut.com/l/_roXlVT7b5ANs
https://dl.doubtnut.com/l/_lGxgjLHza8Hy


5. In the Froth Floatation process, zinc sulphide and lead

sulphide can be separated by__________

A. using collectors.

B. adjusting the proportion of oil to water.

C. using depressant.

D. using froth stabilisers.

Answer: B::C

Watch Video Solution

6. Common impurities present in bauxite are________

A. CuO

https://dl.doubtnut.com/l/_G2EtiLPYGtNJ
https://dl.doubtnut.com/l/_HwuU0uoZUTTW


B. ZnO

C. 

D. 

Answer: C::D

Watch Video Solution

Fe2O3

SiO2

7. Which of the following ores are concentrated by froth

floatation ?

A. Haematite

B. Galena

C. Copper pyrites

D. Magnetite

https://dl.doubtnut.com/l/_HwuU0uoZUTTW
https://dl.doubtnut.com/l/_9FM8pCrrDzAW


Answer: B::C

Watch Video Solution

8. Which of the following reactions occurs during calcination ?

A. 

B. 

C. 

D. 

Answer: A::C

Watch Video Solution

CoCO3 → CaO + CO2

2FeS2 + O2 → Fe2O3 + 4SO2

11

2

Al2O3. xH2O → Al2O3 + xH2O

ZnS + O2 → ZnO + SO2

2

3

https://dl.doubtnut.com/l/_9FM8pCrrDzAW
https://dl.doubtnut.com/l/_2tHTVoMs9xlv


9. For the metallurgical process of which of the ores calcined

ore can be reduced by carbon?

A. haematite

B. calamine

C. iron pyrites

D. sphalerite

Answer: A::B

Watch Video Solution

10. The main reactions occuring in blast furnace during

extraction of iron from haematite ore…..

https://dl.doubtnut.com/l/_BxThn9r6lWj6
https://dl.doubtnut.com/l/_59ubRxjL6xar


A. 

B. 

C. 

D. 

Answer: A::D

Watch Video Solution

Fe2O3 + 3CO → 2Fe + 3CO2

FeO + SiO2 → FeSiO3

Fe2O3 + 3C → 2Fe + 3CO

CaO + SiO2 → CaSiO3

11. In which of the following method of purification metal is

converted to its volatile compound which is decomposed to

give pure metal?

A. heating with stream of carbon monoxide.

B. heating with iodine.

https://dl.doubtnut.com/l/_59ubRxjL6xar
https://dl.doubtnut.com/l/_fNhiMfb1oODm


C. liquation.

D. distillation

Answer: A::B

Watch Video Solution

12. Which of the following statements are correct?

A. A depressant prevents certain type of particle to come

to the froth.

B. Copper matte contains  and ZnS.

C. The solidified copper obtained from reverberatory

furnace has blistered appearance due to evolution of

 during the extraction.

Cu2S

SO2

https://dl.doubtnut.com/l/_fNhiMfb1oODm
https://dl.doubtnut.com/l/_CPXKFkM69pjq


D. Zinc can be extracted by self-reduction.

Answer: A::C

Watch Video Solution

13. In the extraction of chlorine from brine_________

A.  for the overall reaction is negative

B.  for the overall reaction is positive

C.  for overall reaction has negative value.

D.  for overall reaction has positive value.

Answer: B::C

Watch Video Solution

ΔGө

ΔGө

E ө

E ө

https://dl.doubtnut.com/l/_CPXKFkM69pjq
https://dl.doubtnut.com/l/_zciJVzyxSA4y


Ncert File Ncert Exemplar Problems Short Answer Type

Questions

1. Why is an external emf of more than  required for the

extraction of  from brine?

Watch Video Solution

2.2V

Cl2

2. At temperature above  coke can be used to reduce 

 to . How can you justify this reduction with Ellingham

diagram?

Watch Video Solution

1073K

FeO Fe

https://dl.doubtnut.com/l/_3LAAlHfEOffV
https://dl.doubtnut.com/l/_60mdVb9ai6Ky


3. Wrought iron is the purest form of iron. Write a reation

used for the preparation of wrought iron from cast iron. How

can the impurities of sulphur, silicon and phosphorus be

removed from cast iron?

Watch Video Solution

4. How is copper extracted from low grade copper ores?

Watch Video Solution

5. Write two basic requirements for refining of a metal by

Mond process and by Van Arkel Method.

Watch Video Solution

https://dl.doubtnut.com/l/_lCQUOsDG04k5
https://dl.doubtnut.com/l/_GZ3jrvBaz6yr
https://dl.doubtnut.com/l/_O6dnA6HOQ0aL


6. Although carbon and hydrogen are better reducing agents

but they are not used to reduce metallic oxides at high

temperatures. Why?

Watch Video Solution

7. How do we separate two sulphide ores by Froth Floatation

Method? Explain with an example.

Watch Video Solution

8. The purest form of iron is prepared by oxidising impurities

from cast iron in a reverberatory furnace. Which iron ore is

used to line the furnace? Explain by giving reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_Mf0sRNclwfH0
https://dl.doubtnut.com/l/_rIqjpjZzqYaN
https://dl.doubtnut.com/l/_jmyc89Zea4K6


9. The mixture of compounds A and B is passed through a

column of  by using alcohol as eluent. Compound A is

eluted in preference to compound B. Which of the

compounds A or B is more readily adsorbed on the column?

Watch Video Solution

Al2O3

10. Why is sulphide ore of copper heated in a furnace afer

mixing with silica?

Watch Video Solution

11. Why are sulphide ores converted to oxide before

reduction?

https://dl.doubtnut.com/l/_jmyc89Zea4K6
https://dl.doubtnut.com/l/_sxkuwHBPdNkI
https://dl.doubtnut.com/l/_osUZc7TOFvwV
https://dl.doubtnut.com/l/_03YzSKChvo8B


Watch Video Solution

12. Which method is used for refining  and ? Explain with

equation.

Watch Video Solution

Zr T i

13. What should be the considerations during the extraction

of metals by electrochemical method?

Watch Video Solution

14. What is the role of flux in metallurgical processes?

Watch Video Solution

https://dl.doubtnut.com/l/_03YzSKChvo8B
https://dl.doubtnut.com/l/_b4272Jm1FxCu
https://dl.doubtnut.com/l/_WvAAofOhGQIe
https://dl.doubtnut.com/l/_gYD4jL2RFqZi


15. How are metals used as semiconductor refined? What is

the principle of the method used?

Watch Video Solution

16. Write down the reactions taking place in Bast furnace

related to the metallurgy of iron in the temperature range

Watch Video Solution

500 − 800K

17. Give two requirements for vapour phase refining.

Watch Video Solution

https://dl.doubtnut.com/l/_gVPQPn3OUPBW
https://dl.doubtnut.com/l/_4FWjzOTjDgep
https://dl.doubtnut.com/l/_jdhzn1mUFH9f
https://dl.doubtnut.com/l/_9MPOg492rvPC


Ncert File Ncert Exemplar Problems Matching Type Questions

18. Write the chemical reaction involved in the extraction of

gold by cyanide process. Also give the role of zinc in the

extraction.

Watch Video Solution

1. Match the items of Column I with item of Column II and

assign the correct code. 

A. A − 1, B − 2, C − 3, D − 4

https://dl.doubtnut.com/l/_9MPOg492rvPC
https://dl.doubtnut.com/l/_ZBgMqV7BshzU


B. 

C. 

D. 

Answer: B

Watch Video Solution

A − 2, B − 4, C − 5, D − 3

A − 2, B − 3, C − 4, D − 5

A − 4, B − 5, C − 3, D − 2

2. Match the items of Column I with item of Column II and

assign the correct code. 

A. 

B. 

A − 1, B − 2, C − 4, D − 5

A − 4, B − 3, C − 1, D − 2

https://dl.doubtnut.com/l/_ZBgMqV7BshzU
https://dl.doubtnut.com/l/_QfSwFkWukFuB


C. 

D. 

Answer: B

Watch Video Solution

A − 3, B − 4, C − 2, D − 1

A − 5, B − 4, C − 3, D − 2

3. Match the items of Column I with item of Column II and

assign the correct code. 

A. A-4 , B-2 , C-3, D-1

B. A-2 , B-3 , C-1, D-5

https://dl.doubtnut.com/l/_QfSwFkWukFuB
https://dl.doubtnut.com/l/_0HXLs0fcHAO8


C. A-1 , B-2 , C-3, D-4

D. A-3 , B-4 , C-5, D-1

Answer: A

Watch Video Solution

4. Match the items of Column I with item of Column II and

assign the correct code. 

A. A-2, B-3, C-2, D-1

B. A-5, B-4, C-3, D-2

https://dl.doubtnut.com/l/_0HXLs0fcHAO8
https://dl.doubtnut.com/l/_CxGFi6eyQmaz


C. A-2, B-3, C-4, D-5

D. A-1, B-2, C-3, D-4

Answer: A

Watch Video Solution

5. Match the items of Column I with item of Column II and

assign the correct code. 

A. A-2, B-3, C-4, D-1

B. A-1, B-2, C-3, D-5

https://dl.doubtnut.com/l/_CxGFi6eyQmaz
https://dl.doubtnut.com/l/_EafIVNpO2B5z


Ncert File Ncert Exemplar Problems Assertion And Reason Type

Questions

C. A-5, B-4, C-3, D-2

D. A-4, B-5, C-3, D-2

Answer: A

Watch Video Solution

1. Assertion : Nickel can be purified by Mond’s process. 

Reason :  is a volatile compound which decomposed

at  to give pure .

A. Both assertion and reason are true and reason is the

correct explanation of assertion.

Ni(CO)4

460K Ni

https://dl.doubtnut.com/l/_EafIVNpO2B5z
https://dl.doubtnut.com/l/_Poi1L8wX1DVW


B. Both assertion and reason are true but reason is not

the correct explanation of assertion.

C. Assertion is true but reason is false.

D. Assertion is false but reason is true.

Answer: A

Watch Video Solution

2. Assertion : Zirconium can be purified by Van Arkel method. 

Reason :  is volatile and decomposed at .

A. Both assertion and reason are true and reason is the

correct explanation of assertion.

ZrI4 1800K

https://dl.doubtnut.com/l/_Poi1L8wX1DVW
https://dl.doubtnut.com/l/_iffLTCmhVu29


B. Both assertion and reason are true but reason is not

the correct explanation of assertion.

C. Assertion is true but reason is false.

D. Assertion is false but reason is true.

Answer: A

Watch Video Solution

3. Assertion : Sulphide ores are concentrated by Froth

Floatation method. 

Reason : Cresols stabilise the froth in Froth Floatation

method

https://dl.doubtnut.com/l/_iffLTCmhVu29
https://dl.doubtnut.com/l/_1xyxjE5ShbZw


A. Both assertion and reason are true and reason is the

correct explanation of assertion.

B. Both assertion and reason are true but reason is not

the correct explanation of assertion.

C. Assertion is true but reason is false.

D. Assertion is false but reason is true.

Answer: B

Watch Video Solution

4. Assertion : Zone refining method is very useful for

producing semiconductors. 

Reason : Semiconductors are of high purity.

https://dl.doubtnut.com/l/_1xyxjE5ShbZw
https://dl.doubtnut.com/l/_vzmavfUc5Ci5


A. Both assertion and reason are true and reason is the

correct explanation of assertion.

B. Both assertion and reason are true but reason is not

the correct explanation of assertion.

C. Assertion is true but reason is false.

D. Assertion is false but reason is true.

Answer: B

Watch Video Solution

5. Assertion : Hydrometallurgy involves dissolving the ore in a

suitable reagent followed by precipitation by a more

electropositive metal. 

Reason : Copper is extracted by hydrometallurgy.

https://dl.doubtnut.com/l/_vzmavfUc5Ci5
https://dl.doubtnut.com/l/_cWsZjmtIVmKA


Memory Test Say True Or False

A. Both assertion and reason are true and reason is the

correct explanation of assertion.

B. Both assertion and reason are true but reason is not

the correct explanation of assertion.

C. Assertion is true but reason is false.

D. Assertion is false but reason is true.

Answer: C

Watch Video Solution

1. Copper is found both in free as well as in combined state in

nature.

https://dl.doubtnut.com/l/_cWsZjmtIVmKA
https://dl.doubtnut.com/l/_GPhSl6D9mORH


Watch Video Solution

2. Every mineral is an ore, but every ore is not a mineral.

Watch Video Solution

3. Oxidation states of the metal in the minerals haematite and

magnetite, respectively, are

Watch Video Solution

4. Flux combines with slag to form gangue.True or False

View Text Solution

https://dl.doubtnut.com/l/_GPhSl6D9mORH
https://dl.doubtnut.com/l/_iTwN6aIeoAi4
https://dl.doubtnut.com/l/_Jz74r9ZNENiE
https://dl.doubtnut.com/l/_k0aUyCYFKvTl
https://dl.doubtnut.com/l/_zE0WqlpqVXda


5. Calcination is the process of heating the ore strongly in the

_____of air.

Watch Video Solution

6. Silver is extracted by hydrometallurgy.

Watch Video Solution

7. Zone refining method is used for refining

Watch Video Solution

8. The  versus T line for Al lies below  vs T line for Cr at

all temperatures indicating that Al should reduce Cr(III) at all

ΔG ΔG

https://dl.doubtnut.com/l/_zE0WqlpqVXda
https://dl.doubtnut.com/l/_7Y6ddYqlC4Vs
https://dl.doubtnut.com/l/_V35qKg5sT1lE
https://dl.doubtnut.com/l/_ZFLMrfdTEejf


Memory Test Complete The Missing Links

temperatures.

Watch Video Solution

1. The earthly and siliceous impurities which generallty occur

with ores are called _____or _____

Watch Video Solution

2. The most abundant metal in the earth's crust is

Watch Video Solution

https://dl.doubtnut.com/l/_ZFLMrfdTEejf
https://dl.doubtnut.com/l/_cWjRxo8L23Ci
https://dl.doubtnut.com/l/_tWRCIjweZFwN


3. Purest form of iron is

Watch Video Solution

4. The process involving reduction of metal oxide with coke or

carbon monoxide is called………..

View Text Solution

5. (iv) Zirconium is best refined by zonc refining method.

Watch Video Solution

6. In the Mond's process,…… is used to purify impure nickel.

h id l i

https://dl.doubtnut.com/l/_VfaTYSkEOHkN
https://dl.doubtnut.com/l/_QdxfkmGFBaRn
https://dl.doubtnut.com/l/_OYeAzjk4zcGX
https://dl.doubtnut.com/l/_CMblSqYXp5hx


Watch Video Solution

7. The naturally occurring chemical substances in form of

which occur in the earth along with impurities are called ____.

Watch Video Solution

8. How can copper be extracted from low grade copper ores?

Watch Video Solution

9. Bauxite, the ore of aluminium is purified by which process ?

Watch Video Solution

https://dl.doubtnut.com/l/_CMblSqYXp5hx
https://dl.doubtnut.com/l/_DdeSsQUhaOy1
https://dl.doubtnut.com/l/_A8HG9MtvDotV
https://dl.doubtnut.com/l/_8SgpIEVWVygZ


Memory Test Choose The Correct Alternative

10. Sulphide ores are generally concentrated by

Watch Video Solution

11. Roasting of copper pyrites is done:

Watch Video Solution

1. Pine oil is added in froth floatation method because it

increases the non-wettability/wettability of the mineral

particles.

Watch Video Solution

https://dl.doubtnut.com/l/_qdlE1Bcyw3YH
https://dl.doubtnut.com/l/_sDGkv9WIvEzx
https://dl.doubtnut.com/l/_8wGzanfs92ro


2. Why is Zn but not copper used for the recovery of Ag from

its cyanide complex 

Watch Video Solution

[Ag(CN)2]
−

3. The iron obtained from the blast furnace is called:

Watch Video Solution

4. (iii) Substances which convert infusible impurities present

in ores into fusible substances during smeting are called slag.

Watch Video Solution

https://dl.doubtnut.com/l/_dY9h4r1UgdPI
https://dl.doubtnut.com/l/_1nsKaTkuvheO
https://dl.doubtnut.com/l/_Y0pnAnRv7CcN


5. (a) In the electrorefining of impure copper metal, what are

used as cathode and anode ? 

(b) Show the formation of  from magnesium and

chlorine atoms.

Watch Video Solution

MgCl2

6. Assertion : In the metallury of aluminium , purified  is

mixed with  or  . 

Reason :  or  lowers the melting point of

mixture and increases its conductivity.

Watch Video Solution

Al2O3

Na3AlF6 CaF2

Na3AlF6 CaF2

https://dl.doubtnut.com/l/_J0LXMxaehuyn
https://dl.doubtnut.com/l/_ePpRjTEv2Cii


Revision Exercises Multiple Choice Questions

7. Calcination is the process of heating the ore strongly in the

_____of air.

Watch Video Solution

8. Haematite is /

View Text Solution

Fe2O3 Fe3O4

1. Which of the following is not an ore of magnesium?

A. Gypsum

B. Dolomite

https://dl.doubtnut.com/l/_PiTB6ccTe2qZ
https://dl.doubtnut.com/l/_vgvMxfOHrrkJ
https://dl.doubtnut.com/l/_IEPGyFvsY38n


Revision Exercises Multiple Choice Questions

C. Magnesite

D. Carnallite

Answer: A

Watch Video Solution

1. A substance which reacts with gangue to form easily fusible

material is called

A. Flux

B. slag

C. ore

https://dl.doubtnut.com/l/_IEPGyFvsY38n
https://dl.doubtnut.com/l/_2sUPTknt07J6


D. catalyst

Answer: A

View Text Solution

2. Titanium can be obtained in a state of high purity by

A. Van Arkel method

B. Poling

C. Cupellation

D. Electrorefining

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_2sUPTknt07J6
https://dl.doubtnut.com/l/_RkGkyindexXH


3. The ore having two different metal atoms is

A. Haematite

B. Copper pyrites

C. Malachite

D. Magnetite

Answer: B

Watch Video Solution

4. The earthy impurities present in the mineral are called

A. Flux

B. gangue

https://dl.doubtnut.com/l/_731tocxoYo1h
https://dl.doubtnut.com/l/_hipvO1W6tpsJ


C. matte

D. slag

Answer: B

Watch Video Solution

5. Cinnabar is an ore of

A. Hg

B. Ag

C. Sn

D. Al

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_hipvO1W6tpsJ
https://dl.doubtnut.com/l/_QaezqD1bvNUU


Watch Video Solution

6. Pyrolusite is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Ag

Hg

Sn

Mn

7. Malachite is an ore of

A. Hg

https://dl.doubtnut.com/l/_QaezqD1bvNUU
https://dl.doubtnut.com/l/_LY7jpQIEJCm7
https://dl.doubtnut.com/l/_bmsWnTFpZOjN


B. 

C. 

D. 

Answer: B

View Text Solution

Cu

Sn

Mn

8. Sulphide ores are generally concentrated by

A. Froth floatation

B. Roasting

C. Electrolysis

D. Calcination

https://dl.doubtnut.com/l/_bmsWnTFpZOjN
https://dl.doubtnut.com/l/_2fbIStauTuZs


Answer: A

Watch Video Solution

9. The process of zone refining is used for 

A. concentration of an ore

B. reduction of metal oxide

C. purification of metal

D. purification of an ore

Answer: C

Watch Video Solution

:

https://dl.doubtnut.com/l/_2fbIStauTuZs
https://dl.doubtnut.com/l/_89brdzDmbKpS


10. The metal always found in the free state is

A. Gold

B. calcium

C. copper

D. zinc

Answer: A

Watch Video Solution

11. Bauxite is an ore of

A. aluminium

B. calcium

https://dl.doubtnut.com/l/_WJAfIurbiOs5
https://dl.doubtnut.com/l/_KRr2sapvxncg


C. copper

D. zinc

Answer: A

View Text Solution

12. The most abundant element in earth's crust is

A. O

B. Si

C. Al

D. Fe

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_KRr2sapvxncg
https://dl.doubtnut.com/l/_j7XAVQ56MP47


13. Which of the following ores is not concentrated by froth

floatation process?

A. Haematite

B. Magnetite

C. Copper pyrite

D. Bauxite

Answer: C

Watch Video Solution

14. Common impurities present in bauxite are…..

https://dl.doubtnut.com/l/_j7XAVQ56MP47
https://dl.doubtnut.com/l/_TlitY8Hma0sy
https://dl.doubtnut.com/l/_TNL3my2yByDN


A. CuO

B. ZnO

C. 

D. None of these

Answer: C

Watch Video Solution

Fe2O3

15. In which of the following minerals,  is present ? 

1. Fluorspar 

2. Mica 

3. Feldspar 

4. Cryolite

A. Cryolite

Al

https://dl.doubtnut.com/l/_TNL3my2yByDN
https://dl.doubtnut.com/l/_XJUjvUODG1F2


B. Mica

C. Feldspar

D. Fluorspar

Answer: D

Watch Video Solution

16. In the manufacture of iron from haematite, limestone is

added to act as _____.

A. Flux

B. Slag

C. A reducing agent

D. An oxidising agent

https://dl.doubtnut.com/l/_XJUjvUODG1F2
https://dl.doubtnut.com/l/_tlyS2qQzdfb8


Answer: A

Watch Video Solution

17. Purest form of iron is

A. Cast iron

B. Wrought iron

C. Hot steel

D. Stainless steel

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_tlyS2qQzdfb8
https://dl.doubtnut.com/l/_4sedhFlAIVFl


18. In blast furnace, iron oxide is reduced by

A. Carbon

B. CO

C. Zinc

D. Limestone

Answer: B

Watch Video Solution

19. The metal which can be obtained from anode mud is

A. Cu

B. Fe

https://dl.doubtnut.com/l/_FHzsIottym7E
https://dl.doubtnut.com/l/_wcUMlFCfgaMV


C. Ag

D. Zn

Answer: C

View Text Solution

20. Match the ore (Column I) with the metal (Column II) 

A. (i)-  , (ii)-(A), (iii)-(B), (iv)-(E)

B. (i)-  , (ii)-(A), (iii)-(B), (iv)-(D)

C. (i)-(E) , (ii)- , (iii)-(B), (iv)-(E)

(C)

(C)

(C)

https://dl.doubtnut.com/l/_wcUMlFCfgaMV
https://dl.doubtnut.com/l/_WXKuyPIfgd6f


D. (i)-(D) , (ii)-(A), (iii)-(B), (iv)-(E)

Answer: A

View Text Solution

21. Match the process given in column I with its description

given in column II. 

A. (i)-  , (ii)-(D), (iii)-(B), (iv)-(A)

B. (i)-(B) , (ii)-(A), (iii)-(C), (iv)-(D)

C. (i)-  , (ii)-(A), (iii)-(B), (iv)-(D)

(C)

(C)

https://dl.doubtnut.com/l/_WXKuyPIfgd6f
https://dl.doubtnut.com/l/_CYjQMUwaALVD


D. (i)-  , (ii)-(D), (iii)-(B), (iv)-(A)

Answer: C

View Text Solution

(C)

22. Match the method used (Column I) with the metal for

which it is used (Column II) 

A. (i)-  , (ii)-(A), (iii)-(D), (iv)-(B)

B. (i)-  , (ii)-(B), (iii)-(A), (iv)-(D)

C. (i)-  , (ii)-(D), (iii)-(B), (iv)-(D)

(C)

(C)

(C)

https://dl.doubtnut.com/l/_CYjQMUwaALVD
https://dl.doubtnut.com/l/_lH7erLWnfKkS


D. (i)-  , (ii)-(A), (iii)-(B), (iv)-(D)

Answer: D

View Text Solution

(C)

23. Match the method (column I) with its example (column II) 

A. (i)-  , (ii)-(A)

B. (i)- , (ii)-(B)

C. (i)-(A) , (ii)-(B)

D. (i)-(B), (ii)-(A)

(C)

(C)

https://dl.doubtnut.com/l/_lH7erLWnfKkS
https://dl.doubtnut.com/l/_RT2yjrgtGyHM


Answer: A

View Text Solution

24. Match the alloy of copper (column I) with its composition

(column II) 

A. (i)-  , (ii)-(B), (iii)-(A)

B. (i)-(B) , (ii)- , (iii)-(A)

C. (i)-  , (ii)-(A), (iii)-(B)

D. (i)-(B) , (ii)-(A), (iii)-(C)

Answer: B

(C)

(C)

(C)

https://dl.doubtnut.com/l/_RT2yjrgtGyHM
https://dl.doubtnut.com/l/_vXFKRl676mSG


Watch Video Solution

25. Match the process (column I) with its name (column II) 

A. (i)- , (ii)-(B), (iii)-(A)

B. (i)-(B), (ii)- , (iii)-(A)

C. (i)- , (ii)-(A), (iii)-(B)

D. (i)-(B), (ii)-(A), (iii)-

Answer: C

Watch Video Solution

(C)

(C)

(C)

(C)

https://dl.doubtnut.com/l/_vXFKRl676mSG
https://dl.doubtnut.com/l/_ZZ5DnQ5Ls2Lu


Revision Exercises Passage Based Questions

1. Extraction is a process of obtaining metals in the free state

from concentrated ores. The two main operations for working

of the ore are, conversion of concentrated ore to its oxide

from (oxidation or de-electronation) and conversion of oxide

to the metal (reduction or de-electronation). The

concentrated ore is converted to metal oxide by calcination

and roasting. The oxide of the metal is converted to metallic

form by using reducing agents such as C,CO or active metals

(Na, K, Mg, Al, etc). The Ellingham diagrams help in choosing

the better reducing agents. Some metals like gold and silver

are extracted by leaching process which involves both

oxidation and reduction. 

https://dl.doubtnut.com/l/_ZZ5DnQ5Ls2Lu
https://dl.doubtnut.com/l/_EkNxrnxrYWdJ


What is the basic difference between calcination and roasting

.

View Text Solution

2. Extraction is a process of obtaining metals in the free state

from concentrated ores. The two main operations for working

of the ore are, conversion of concentrated ore to its oxide

from (oxidation or de-electronation) and conversion of oxide

to the metal (reduction or de-electronation). The

concentrated ore is converted to metal oxide by calcination

and roasting. The oxide of the metal is converted to metallic

form by using reducing agents such as C,CO or active metals

(Na, K, Mg, Al, etc). The Ellingham diagrams help in choosing

the better reducing agents. Some metals like gold and silver

are extracted by leaching process which involves both

https://dl.doubtnut.com/l/_EkNxrnxrYWdJ
https://dl.doubtnut.com/l/_wBeiFu19FfO8


oxidation and reduction. 

What type of ores are roasted ?

View Text Solution

3. Extraction is a process of obtaining metals in the free state

from concentrated ores. The two main operations for working

of the ore are, conversion of concentrated ore to its oxide

from (oxidation or de-electronation) and conversion of oxide

to the metal (reduction or de-electronation). The

concentrated ore is converted to metal oxide by calcination

and roasting. The oxide of the metal is converted to metallic

form by using reducing agents such as C,CO or active metals

(Na, K, Mg, Al, etc). The Ellingham diagrams help in choosing

the better reducing agents. Some metals like gold and silver

are extracted by leaching process which involves both

https://dl.doubtnut.com/l/_wBeiFu19FfO8
https://dl.doubtnut.com/l/_yFgRKwfd0COp


oxidation and reduction. 

Why zinc and not copper used for the recovery of metallic

silver from its  complex ?

View Text Solution

[Ag(CN)2]
−

4. Extraction is a process of obtaining metals in the free state

from concentrated ores. The two main operations for working

of the ore are, conversion of concentrated ore to its oxide

from (oxidation or de-electronation) and conversion of oxide

to the metal (reduction or de-electronation). The

concentrated ore is converted to metal oxide by calcination

and roasting. The oxide of the metal is converted to metallic

form by using reducing agents such as C,CO or active metals

(Na, K, Mg, Al, etc). The Ellingham diagrams help in choosing

the better reducing agents. Some metals like gold and silver

https://dl.doubtnut.com/l/_yFgRKwfd0COp
https://dl.doubtnut.com/l/_IWNCCvrrmA75


Revision Exercises Assertion Reason Questions

are extracted by leaching process which involves both

oxidation and reduction. 

Give two examples of metal oxides which can be reduced to

metals by C or CO.

View Text Solution

1. Assertion: Carbonate and hydroxide orea re concentrated

by froth floatation process. 

Reason: In froth floataiton process, pine is used because it

preferentially wets the ore particles.

A. Assertion and reason both are correct statements but

reason is correct explanation for assertion.

https://dl.doubtnut.com/l/_IWNCCvrrmA75
https://dl.doubtnut.com/l/_brkXZ8MFDqz7


B. Assertion and reason both are correct statements but

reason is not correct explanation for assertion.

C. Assertion is correct statement but reason is wrong

statement.

D. Assertion is wrong statement but reason is correct

statement.

Answer: D

Watch Video Solution

2. Assertion: Gold and platinum occur in native state. 

Reason: Gold and platinum are expensive metals.

https://dl.doubtnut.com/l/_brkXZ8MFDqz7
https://dl.doubtnut.com/l/_lHJoxGXSDcFW


A. Assertion and reason both are correct statements but

reason is correct explanation for assertion.

B. Assertion and reason both are correct statements but

reason is not correct explanation for assertion.

C. Assertion is correct statement but reason is wrong

statement.

D. Assertion is wrong statement but reason is correct

statement.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_lHJoxGXSDcFW


3. Assertion: Aluminothermy is used for extraction of

chromium form chromium oxide. 

Reason: Alumina has a high melting point.

A. Assertion and reason both are correct statements but

reason is correct explanation for assertion.

B. Assertion and reason both are correct statements but

reason is not correct explanation for assertion.

C. Assertion is correct statement but reason is wrong

statement.

D. Assertion is wrong statement but reason is correct

statement.

Answer: B

W h Vid S l i

https://dl.doubtnut.com/l/_T9y8GF2a9ZOO


Watch Video Solution

4.  can be purified by Van Arkel process. 


 is a volatile compound which decomposes at a high

temperature.

A. Assertion and reason both are correct statements but

reason is correct explanation for assertion.

B. Assertion and reason both are correct statements but

reason is not correct explanation for assertion.

C. Assertion is correct statement but reason is wrong

statement.

D. Assertion is wrong statement but reason is correct

statement.

T i

T iI4

https://dl.doubtnut.com/l/_T9y8GF2a9ZOO
https://dl.doubtnut.com/l/_pb2QNhiW95ov


Answer: A

Watch Video Solution

5. Assertion: In Mond process, nickel is heated in a stream of

CO forming a volatile complex. 

Reason: This is an electrolytic refining method.

A. Assertion and reason both are correct statements but

reason is correct explanation for assertion.

B. Assertion and reason both are correct statements but

reason is not correct explanation for assertion.

C. Assertion is correct statement but reason is wrong

statement.

https://dl.doubtnut.com/l/_pb2QNhiW95ov
https://dl.doubtnut.com/l/_oouIBD4N2IAF


Revision Exercises One Word Short Sentence Answer

D. Assertion is wrong statement but reason is correct

statement.

Answer: C

Watch Video Solution

1. What is a mineral? How does it differ from an ore?

Watch Video Solution

2. Slag and Flux

Watch Video Solution

https://dl.doubtnut.com/l/_oouIBD4N2IAF
https://dl.doubtnut.com/l/_62151m87tDtH
https://dl.doubtnut.com/l/_zwYsp2XgdOhr


3. Give the formula of the ores: haematite and bauxite.

Watch Video Solution

4. Name two important ores of iron.

Watch Video Solution

5. Write the names and formulae of two ores of aluminium.

Watch Video Solution

6. Name two metals which exist in the native or free state.

W t h Vid S l ti

https://dl.doubtnut.com/l/_zwYsp2XgdOhr
https://dl.doubtnut.com/l/_y7jvN3GNbh2Z
https://dl.doubtnut.com/l/_qtJ0bcFZ8aoh
https://dl.doubtnut.com/l/_uxvaYVGwsJjG
https://dl.doubtnut.com/l/_iHFtejHIW1rl


Watch Video Solution

7. Describe the principle of froth flotation process. What is the

role of a stabiliser and of a depressant ? Give one example of

each.

Watch Video Solution

8. Define aluminothermy.

Watch Video Solution

9. CHROMATOGRAPHY

Watch Video Solution

https://dl.doubtnut.com/l/_iHFtejHIW1rl
https://dl.doubtnut.com/l/_PB2QJBS2f2CG
https://dl.doubtnut.com/l/_kcA4rZkO8QN6
https://dl.doubtnut.com/l/_xhInY9CDC0vw
https://dl.doubtnut.com/l/_1ZaAlLtNB7fF


10. What type of ores are roasted?

Watch Video Solution

11. Name the method of metal refining which is generally used

when a metal of high degree of purity is needed.

Watch Video Solution

12. Name the sulphide ores of (i) zinc (ii) lead.

Watch Video Solution

13. Name two ores which are concentrated by froth floatation

method.

https://dl.doubtnut.com/l/_1ZaAlLtNB7fF
https://dl.doubtnut.com/l/_ZPDJZx0oGWvh
https://dl.doubtnut.com/l/_JexEcOorDWDS
https://dl.doubtnut.com/l/_IH33vnexule3


Watch Video Solution

14. Write reduction reaction occuring in the blast furnace in

the metallurgy of iron at 900-1500 K.

Watch Video Solution

15. What are ores ? Name one sulphide ore.

Watch Video Solution

16. Why Al cannot be reduced by carbon?

Watch Video Solution

https://dl.doubtnut.com/l/_IH33vnexule3
https://dl.doubtnut.com/l/_peXNDX7z7hcn
https://dl.doubtnut.com/l/_gq1FsbZJkh0y
https://dl.doubtnut.com/l/_WdtGTbJ1BccF
https://dl.doubtnut.com/l/_2TiYxO50dcGx


17. State the role of silica in the metallurgy of copper.

Watch Video Solution

18. What is the role of depressant in froth floatation process?

Watch Video Solution

19. The method of zone refining of metals is based on the

principle of :

Watch Video Solution

20. What is the role of graphite in the electrometallurgy of

aluminium ?

https://dl.doubtnut.com/l/_2TiYxO50dcGx
https://dl.doubtnut.com/l/_JtU64U7e4SXa
https://dl.doubtnut.com/l/_HwuUnhUHzolZ
https://dl.doubtnut.com/l/_Smsbjaw0IvMw


Watch Video Solution

21. Give an important ore each of zinc and magnesium.

Watch Video Solution

22. What is the composition of 'Copper matte'?

Watch Video Solution

23. Why is the extraction of copper from pyrites more difficult

than that from its oxide ore through reduction?

Watch Video Solution

https://dl.doubtnut.com/l/_Smsbjaw0IvMw
https://dl.doubtnut.com/l/_iFZUnPWijPAY
https://dl.doubtnut.com/l/_L9Ljhhz8YBpG
https://dl.doubtnut.com/l/_3NUyVxy74al1
https://dl.doubtnut.com/l/_gL4TfndaHQ1m


24. Suggest a List of metals that are extracted electrolytically.

Watch Video Solution

25. Blister copper is:

Watch Video Solution

26. Define the term flux.

Watch Video Solution

27. Name the metal used as a reducing agent in

Aluminothermic process.

Watch Video Solution

https://dl.doubtnut.com/l/_gL4TfndaHQ1m
https://dl.doubtnut.com/l/_uLdzFYhQyM9P
https://dl.doubtnut.com/l/_cOUP6OdfpCOn
https://dl.doubtnut.com/l/_J1OXK8UzEejI


Revision Exercises Cbse Qs

1. What is meant by the term ' pyrometallurgy' ?

Watch Video Solution

2. Differentiate between a mineral and an ore.

Watch Video Solution

3. Why is thie that only sulphide ores are connectrated by

forth floatation process ?

Watch Video Solution

https://dl.doubtnut.com/l/_J1OXK8UzEejI
https://dl.doubtnut.com/l/_vTSJbps7otel
https://dl.doubtnut.com/l/_Cdqp0Sfxi19W
https://dl.doubtnut.com/l/_zwCWIkvr3NOi


4. What type of ores can be concentrated by magnetic

separation method ?

Watch Video Solution

5. What is the role of collector and froth stabilizer in froth

floatation process ?

Watch Video Solution

6. Name the method used for refining of copper metal

Watch Video Solution

https://dl.doubtnut.com/l/_xyo4LqpMVOm1
https://dl.doubtnut.com/l/_UBd382QrlMuL
https://dl.doubtnut.com/l/_sJMh3GbV5OLZ


Revision Exercises Short Answer Questions

7. Name the method used for the refining of Nickel metal.

Watch Video Solution

8. What is the role of zinc metal in the extraction of silver?

Watch Video Solution

1. Name two important ores or iron. Write the method of

extraction of iron and the chemical reactions involved in it.

Watch Video Solution

https://dl.doubtnut.com/l/_vlM7EW85reBC
https://dl.doubtnut.com/l/_X1JKWXKkkfB3
https://dl.doubtnut.com/l/_tW7WAXqZA0X2
https://dl.doubtnut.com/l/_cJFdmWRhwT2D


2. Write down the chemical reactions taking place in the

extraction of zinc from zinc blende.

Watch Video Solution

3. Explain the basic principles of the following metallurgical

operations : 

(i) Zone refining 

(ii)Froth floatation process 

(iii) Refining by liquation 

(d) Vapour phase refining.

Watch Video Solution

https://dl.doubtnut.com/l/_cJFdmWRhwT2D
https://dl.doubtnut.com/l/_IwZLbb6HwxQ9


4. Define the following terms : 

(a) Roasting (b) Electro metallurgy 

Aluminothermy

Watch Video Solution

(C)

5. Describe how the following changes are brought about: 

(i)Pig iron into steel. 

(ii)Zinc oxide into metallic zinc.

(iii)Impure titanium into pure titanium.

Watch Video Solution

6. What is the role of graphite rod in the electrometallurgy of

aluminium?

https://dl.doubtnut.com/l/_Irb2bF9hsqae
https://dl.doubtnut.com/l/_igPAdWTmVIMK
https://dl.doubtnut.com/l/_0ZdkWVrXspRi


Watch Video Solution

7. Describe the principle involved in each of the following

processes: 

(a) Mond process for refining of nickel. 

(b) Column chromatography for purification of rare elements.

Watch Video Solution

8. Explain the role of the following in the processes

mentioned : 

(a) Depressant in froth floatation process. 

(b) Limestone in the metallurgy of iron.

Watch Video Solution

https://dl.doubtnut.com/l/_0ZdkWVrXspRi
https://dl.doubtnut.com/l/_Pr7gQ1393XDh
https://dl.doubtnut.com/l/_mMk9ryafUgY1


9. Write the principle of the following 

(a) Zone refining 

(b) Froth flaotation process 

(c) Chromatography

Watch Video Solution

10. (a) Differentiate between roasting and calcination. 

(b)How is cast iron different from pig iron ? 

 Explain magnetic separation method in detail.

Watch Video Solution

(C)

11. (a) Which solution is used for the leaching of silver metal in

the presence of air in the metallurgy of silver ?

https://dl.doubtnut.com/l/_iAJIvPOvcjX2
https://dl.doubtnut.com/l/_7920vt8G1gyx
https://dl.doubtnut.com/l/_N2PeFUc9KlJh


(b) Out of C and CO, which is a better reducing agent at the

lower temperature rangein the blast furnace to extract iron

form the oxide ore ?

Watch Video Solution

12. (a) Give an example of zone refining of metals.

(b) What is the role of cryolite in the metallurgy of

aluminium?

Watch Video Solution

13. (a) How can copper be extracted from hydrometallurgical

process ?

Watch Video Solution

https://dl.doubtnut.com/l/_N2PeFUc9KlJh
https://dl.doubtnut.com/l/_vK3gUrfttcdG
https://dl.doubtnut.com/l/_zQlOVmI9ci2D


14. Give Mond process for refining of nickel.

Watch Video Solution

15. (a) What are calcination and roasting ? In which type of

ores are these processes used ? 

(b) Which metals are generally extracted by electrolyte

processes ? What position do these metals occupy in the

periodic table ?

Watch Video Solution

16. Define the following terms: 

(i) Ore benefaction 

https://dl.doubtnut.com/l/_yvcpUpSBMwUP
https://dl.doubtnut.com/l/_8agp4iNVwvLC
https://dl.doubtnut.com/l/_ghJiVCCDz1ZK


(ii) Hydrometallurgy 

(iii) Pyrometallurgy

Watch Video Solution

17. EXTRACTION OF ALUMINIUM

Watch Video Solution

18. What type of ores can be concentrated by froth floatation

process ? Explain how can the process be carried out ?

Watch Video Solution

https://dl.doubtnut.com/l/_ghJiVCCDz1ZK
https://dl.doubtnut.com/l/_mYQu60pcGcPL
https://dl.doubtnut.com/l/_xZB0j7Nn0UNf


19. (i) Indicate the principle behind the method used for the

refining of zinc. 

(ii) What is the role of silica in the extraction of copper ? 

(iii) Which form of iron is the purest on commercial scale ?

Watch Video Solution

20. (a) Why is zinc blende roasted before carbon reduction?

Answer with balanced chemical equation. 

(b) What is malachite ?Write down its formula.

Watch Video Solution

21. How is zinc obtained from zinc blende ? Give chemical

reactions.

https://dl.doubtnut.com/l/_j93LBGoQBDfe
https://dl.doubtnut.com/l/_43n4qIF6x2jT
https://dl.doubtnut.com/l/_S44FcxV5ZxRS


Watch Video Solution

22. Explain the steps involved in the vapour phase refining of

Ni and Zr.

Watch Video Solution

23. (a) Name the role of  in the electrolytic reduction

of alumina. 

(b) How does the FeO impurity present in sulphide ore of

copper is removed ?

Watch Video Solution

Na3AlF6

https://dl.doubtnut.com/l/_S44FcxV5ZxRS
https://dl.doubtnut.com/l/_zL5nIRDxBxXR
https://dl.doubtnut.com/l/_C8XcUuHF9Vkt


24. (i) Name the method of refining of metals such as

Germanium. 

(ii) In the extraction of Al, impure  is dissolved in conc.

NaOH to form sodium aluminate and leaving impurities

behind. What is the name of this process? 

(iii) What is the role of coke in the extraction of iron from its

oxides?

Watch Video Solution

Al2O3

25. All ores are minerals while all minerals are not ores

because :

Watch Video Solution

https://dl.doubtnut.com/l/_bdlz1erYptuI
https://dl.doubtnut.com/l/_P4RgUl5pVIDW


26. (a) What are the two requirements for vapour phase

refining? Write the chemical reactions which occur during

Mond's process for the refining of nickel.

Watch Video Solution

27. Name the principal ore of aluminium. Explain the

significance of leaching in the extraction of aluminium.

Watch Video Solution

28. (a) Write the principle of method used for the refining of

germanium 

(b) Out of PbS and  (ores of lead), which one is

concentrated by froth floatation process preferably ? 

PbCO3

https://dl.doubtnut.com/l/_BJN5bNj5Wk8h
https://dl.doubtnut.com/l/_FFPFeUYlC4rD
https://dl.doubtnut.com/l/_sqtdfsfVky6M


(c) What is the significance of leaching in the extraction of

aluminium ?

Watch Video Solution

29. Describe the role of 

(i) NaCN in the extraction of gold from its ore. 

(ii) Cryolite in the extraction of aluminium from pure alumina 

(iii) CO in the purification of Nickel.

Watch Video Solution

30. Outline the principles of refining of metals by the

following methods. 

(a)Zone refining (b) Electrolytic refining (c) poling (d) Vapour

phase refining.

https://dl.doubtnut.com/l/_sqtdfsfVky6M
https://dl.doubtnut.com/l/_GDxl1axE7quj
https://dl.doubtnut.com/l/_Tal6wiy03yWL


Watch Video Solution

31. (i) Name a metal refined by Van Arkel method. 

(ii) Explain the process of obtaining "blister copper" from

"copper matte" with equation.

Watch Video Solution

32. (i) Explain zone refining method for refining of metals. 

(ii) Explain the van Arkel method for refining of metals.

Watch Video Solution

33. (i) Write composition of copper matte. 

(ii) Write balanced equations for the reactions involved in the

https://dl.doubtnut.com/l/_Tal6wiy03yWL
https://dl.doubtnut.com/l/_0Oyx5WGJhJc8
https://dl.doubtnut.com/l/_02m2pGosTZ6A
https://dl.doubtnut.com/l/_1CRHnYrXQ3YM


extraction of copper from copper matte.

Watch Video Solution

34. (a) Name the method of refining which is 

(i) used to obtain semiconductor of high purity. 

(ii) used to obtain low boiling metal. 

(b) Write chemical reactions taking place in the extraction of

copper from .

Watch Video Solution

Cu2S

35. Describe the role of the following : 

(i) NaCl in the extraction of silver from a silver ore 

(ii) Iodine in the refining of titanium 

(iii) Cryolite in the metallurgy of aluminium

https://dl.doubtnut.com/l/_1CRHnYrXQ3YM
https://dl.doubtnut.com/l/_qOKulJCWokx0
https://dl.doubtnut.com/l/_you5sF1fEGsL


Watch Video Solution

36. Match the following processes of metallurgy with their

corresponding ore for which they are used : 

(i) Froth floatation method 

(a) Germanium 

(ii) Electrolytic refining of metals 

(b) ZnS 

(iii) Zone refining of metals 

(c) copper

Watch Video Solution

37. Describe the principle controlling each of the following

processes: 

https://dl.doubtnut.com/l/_you5sF1fEGsL
https://dl.doubtnut.com/l/_CJXRtQSPBLy2
https://dl.doubtnut.com/l/_uYrGepGfyF3I


(i) Vapour phase refining of titanium metal. 

(ii) Froth floatation method of concetration of a sulphide ore

Watch Video Solution

38. (i) Name a method used for the refining of zirconium. 

(ii) What is the role of CO in the extraction of iron ? 

(iii) Reduction of metal oxide to metal becomes easier if the

metal obtained is in the liquid state. Why ?

Watch Video Solution

39. Write the principle of the following 

(a) Zone refining 

(b) Froth flaotation process 

(c) Chromatography

https://dl.doubtnut.com/l/_uYrGepGfyF3I
https://dl.doubtnut.com/l/_PegQ7KoloIwc
https://dl.doubtnut.com/l/_xNC2JDDh5LEp


Watch Video Solution

40. (a) Write the principle involved in the vapour phase

refining of metals. 

(b) Write the name of the metal refined by each of the

following processes : 

(i) Mond process (ii) van Arkel method 

(c ) What is the role of depresent in froth floatation process ?

Watch Video Solution

41. Write down the reactions taking place in Bast furnace

related to the metallurgy of iron in the temperature range

Watch Video Solution

500 − 800K

https://dl.doubtnut.com/l/_xNC2JDDh5LEp
https://dl.doubtnut.com/l/_4zlHdXt8SMfY
https://dl.doubtnut.com/l/_OSxul2Kj4aN4


Hots Higher Order Thinking Skills Advanced Level

42. Write down the reactions taking place in different zones in

the blast furnace during the extraction of iron.

Watch Video Solution

1. Metals donot occur in nature as nitrates. Why ?

Watch Video Solution

2. Why the graphite rods in the extraction of aluminium from

molten  have to be replaced from time to time ?

Watch Video Solution

Al2O3

https://dl.doubtnut.com/l/_OSxul2Kj4aN4
https://dl.doubtnut.com/l/_SUZNXlUDoZ3w
https://dl.doubtnut.com/l/_4DkeoSMPH6iN
https://dl.doubtnut.com/l/_pq2SXotYKmGs


Watch Video Solution

3. Why is zinc and not copper used for the recovery of metallic

silver from its cyanide complex  ?

View Text Solution

[Ag(CN)2]
−

4. Cinnabar  and galena  on roasting often give

their respective metals, but zinc blende  does not. Give

reason.

Watch Video Solution

(HgS) (PbS)

(ZnS)

5. Graphite is used as anode but diamond is not. 

There exist free electrons between two parallel sheets of

https://dl.doubtnut.com/l/_pq2SXotYKmGs
https://dl.doubtnut.com/l/_X8g6k0QRgyc5
https://dl.doubtnut.com/l/_CJ9Dfw2QU5As
https://dl.doubtnut.com/l/_ryWiksSKvh18


graphite, hence it helps in electrode conduction.

Watch Video Solution

6. Why is it advantageous to roast a sulphide ore to the oxide

before reduction ?

Watch Video Solution

7. Thermite process is quite useful for repairing broken parts

of machines. Explain.

View Text Solution

https://dl.doubtnut.com/l/_ryWiksSKvh18
https://dl.doubtnut.com/l/_kLYkTS4nazRf
https://dl.doubtnut.com/l/_h79zZXxMKMs1


8. The extraction of  by leaching with  both

oxidation and reduction. Justify giving equations.

Watch Video Solution

Au NaCN

9. A part of Ellingham diagram is shown below :

 


(i) Will  be reduced by Al or not ? 


(ii) Suggest a condition under which magnesium could

reduced aluminium.

Cr2O3

https://dl.doubtnut.com/l/_1EapdHQCdx13
https://dl.doubtnut.com/l/_57DOFu2QTadk


Competion File Objective Questions Multiple Choice Question

With Only One Correct Answer

Watch Video Solution

10. Why partial roasting of sulphide ore is done in the

metallurgy of copper ?

Watch Video Solution

1. During smelting, an additional substance is added which

combines with impurities to form a fusible product. The

substance added is known as :

A. mud

https://dl.doubtnut.com/l/_57DOFu2QTadk
https://dl.doubtnut.com/l/_2Ad8Nzsx8Bd2
https://dl.doubtnut.com/l/_BMGcTtlIMdRe


B. slag

C. flux

D. gangue.

Answer: B

Watch Video Solution

2. Roasting is carried out in case of:

A. iron pyrites

B. galena

C. cinnabar

D. bauxite.

https://dl.doubtnut.com/l/_BMGcTtlIMdRe
https://dl.doubtnut.com/l/_vQ6KsVcFZP2G


Answer: C

Watch Video Solution

3. The method for the purification of impure metals which I

based upon the phenomenon of electrolysis is called

A. Electrorefining

B. Hydrometallurgy

C. Polling

D. Liquation.

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_vQ6KsVcFZP2G
https://dl.doubtnut.com/l/_oqY5oAPsZ1bE
https://dl.doubtnut.com/l/_wMkbfVGngrTO


4. Coke is used in metallurgical process chiefly as

A. Flux

B. reducing agent

C. slag

D. oxidising agent

Answer: B

Watch Video Solution

5. Zone regining has been employed for preparing ultra pure

samples of

A. Cu

B. Na

https://dl.doubtnut.com/l/_wMkbfVGngrTO
https://dl.doubtnut.com/l/_DCuSYcOAUZht


C. Ge

D. Zn.

Answer: C

Watch Video Solution

6. Copper pyrites are concentrated by

A. Electromagnetic method

B. Froth flotation process

C. Gravity method.

D. All the above.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_DCuSYcOAUZht
https://dl.doubtnut.com/l/_qYAZyS3OxJCm


Watch Video Solution

7. Electrolyte reduction method is used in the extraction of

A. highly electromegative elements

B. metalloids

C. transition metals

D. highly electropositive elements

Answer: D

Watch Video Solution

8. The purpose of smelting an ore is

A. oxidise it

https://dl.doubtnut.com/l/_qYAZyS3OxJCm
https://dl.doubtnut.com/l/_SD2dywhqTSqt
https://dl.doubtnut.com/l/_GStFRaxYwPsY


B. reduce it

C. obtain an alloy

D. separate volatile impurities

Answer: B

Watch Video Solution

9. Which of the following metals is obtained by leaching its

ore with dilute cyanide solution ?

A. Titanium

B. Silver

C. Zirconium

D. Vanadium

https://dl.doubtnut.com/l/_GStFRaxYwPsY
https://dl.doubtnut.com/l/_ol8FHbqHeZwh


Answer: B

Watch Video Solution

10. Which of the following metals cannot be extracted by

carbon reduction process?

A. Pb

B. Al

C. Zn

D. Hg

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ol8FHbqHeZwh
https://dl.doubtnut.com/l/_Atptsvj7qYV1
https://dl.doubtnut.com/l/_Eg3ncBu0J7Qn


11. Van Arkel method of purification of metals involves

converting the metal to

A. volatile unstable compound

B. volatile stable compound

C. non-volatile stable compound

D. none of the above.

Answer: B

Watch Video Solution

12. In which of the following, ore does not match with the

metal ?

A. Zinc - Calamine

https://dl.doubtnut.com/l/_Eg3ncBu0J7Qn
https://dl.doubtnut.com/l/_euIKiPinxiSF


B. Lead - Gypsum

C. Copper - Malachite

D. Aluminium - Bauxite

Answer: B

Watch Video Solution

13. Smelting involves reduction of metal oxide with :

A. Carbon

B. Carbon monoxide

C. Magnesium

D. Alumimum

https://dl.doubtnut.com/l/_euIKiPinxiSF
https://dl.doubtnut.com/l/_uHlh8o9WqbTU


Answer: A

View Text Solution

14. Out of the following matals that cannot be obtained by

electrolysis of the aquenous solution of their salts is

A. Ag

B. Cu

C. Al

D. Cr

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_uHlh8o9WqbTU
https://dl.doubtnut.com/l/_icSIn9JzJGvr
https://dl.doubtnut.com/l/_Y6RjF99iDS4S


15. Which of the following is used in thermine welding ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

T iO2 + 4Na → T i + 2Na2O

Cr2O3 + 2Al → Al2O3 + 2Cr

3Mn3O4 + 8Al → 4Al2O3 + 9Mn

2Al + Fe2O3 → Al2O3 + Fe

16.  vs T plot in Ellingham diagram slopes downward for

the reaction .

A. 

B. 

ΔGӨ

2Ag + O2 → Ag2O
1

2

CO + O2 → CO2

1

2

https://dl.doubtnut.com/l/_Y6RjF99iDS4S
https://dl.doubtnut.com/l/_haqfxA5PnG5t


C. 

D. 

Answer: C

Watch Video Solution

C + O2 → CO
1

2

Cu + O2 → CuO
1

2

17. Which of the following statement is not true?

A. The Ellingham diagram show the plots of  vs T.

B. In froth floatation process depressants are added to

enhance the formation of froth.

C. Extraction of zinc oxide is done by coke.

D. CO is more effective reducing agent below 983K

ΔG

https://dl.doubtnut.com/l/_haqfxA5PnG5t
https://dl.doubtnut.com/l/_s2zCfcB4a7jJ


Answer: B

Watch Video Solution

18. From the Ellingham graphs on carbon, which of the

following statements is false?

A.  is more stable than CO at less than 983 K

B. CO reduces  to Fe at less than 983 K

C. CO is less stable than  at more than 983 K

D. CO reduces  to Fe in the reduction zone of blast

furnace.

Answer: C

View Text Solution

CO2

Fe2O3

CO2

Fe2O3

https://dl.doubtnut.com/l/_s2zCfcB4a7jJ
https://dl.doubtnut.com/l/_RHnf90S0IMkv


19. During roasting of zinc blende, it converts to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ZnO

ZnSO4

ZnCO3

Zn

20. The form of iron obtained from blast furnace is:

A. Cast iron

https://dl.doubtnut.com/l/_RHnf90S0IMkv
https://dl.doubtnut.com/l/_ZIQ3XSee4WXs
https://dl.doubtnut.com/l/_fkbTXuE64Qep


B. Spongy iron

C. Steel

D. Wrought iron

Answer: B

Watch Video Solution

21. In blast furnace, iron oxide is reduced by

A. Carbon

B. Limestone

C. CO

D. Zinc

https://dl.doubtnut.com/l/_fkbTXuE64Qep
https://dl.doubtnut.com/l/_lOM0ZHxFx82j


Answer: C

Watch Video Solution

22. The smelting of iron in a blast furance involves all the

steps except

A. Fusion

B. Reduction

C. Sublimation

D. Roasting

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_lOM0ZHxFx82j
https://dl.doubtnut.com/l/_FFRkub89mufa
https://dl.doubtnut.com/l/_DkqWY8aL51Og


23. Heating pyrities in air to remove sulphur is called

A. calcination

B. fluxing

C. smelting

D. roasting

Answer: D

Watch Video Solution

24. In the metallurgy of iron, when limestone is added to the

blast furnace,the calcium ions end up in

A. gangue

B. slag

https://dl.doubtnut.com/l/_DkqWY8aL51Og
https://dl.doubtnut.com/l/_CYChMx0jCPc3


C. metallic calcium

D. calcium oxide

Answer: B

Watch Video Solution

25. In electrorefining, the impure metal is made _____.

A. anode

B. cathode

C. anode or cathode

D. electrolyte

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_CYChMx0jCPc3
https://dl.doubtnut.com/l/_qDyo4bF1mzYW


Competion File Objective Questions Multiple Choice Question

From Competitive Examinations

Watch Video Solution

1. Which of the following srtatement above the advantage of

masting of sulphide are before reduction is not true?

A. The  of the sulphide is greater than those for 

 and 

B. The  is negative for roasting of sulphide ore to

oxide.

C. Roasting of the sulphide to the oxide is

thermodynamically feasible.

ΔfG∘

CS2 H2S

ΔfG∘

https://dl.doubtnut.com/l/_qDyo4bF1mzYW
https://dl.doubtnut.com/l/_7ko61GqtO1L1


D. Carbon and hydrogen are suitable reducing agents for

metal sulphides

Answer: D

Watch Video Solution

2. Which one of the following ores is treated by chemical

leaching

A. Galena

B. Copper pyrite

C. Cinnabar

D. Argentite

Answer: D

https://dl.doubtnut.com/l/_7ko61GqtO1L1
https://dl.doubtnut.com/l/_c849veCxM4vV


Watch Video Solution

3. Which of the following pairs of metals uis purified by van

arkel method?

A. Ga and In

B. Zr and Ti

C. Ag and Au

D. Ni and Fe

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_c849veCxM4vV
https://dl.doubtnut.com/l/_8yX0wiGou06W


4. which of the following electronts is present as the impurity

to the maximum extent in the pig iron?

A. Manganese

B. Carbon

C. Silicon

D. Phosphorus

Answer: B

Watch Video Solution

5. Aluminium is extracted from Alumina (  ) by

electrolysis of a molten mixture of

Al2O3

https://dl.doubtnut.com/l/_z3MofJoQtzTe
https://dl.doubtnut.com/l/_5bOz6ICgcutt


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Al2O3 + HF + NaAlF4

Al2O3 + CaF2 + NaAlF4

Al2O3 + Na3AlF6 + CaF2

Al2O3 + KF + Na3AlF6

6. Which ore of the following is a mineral of iron ?

A. Malachite

B. Cassiterite

C. Pyrolusite

D. Magnetite

https://dl.doubtnut.com/l/_5bOz6ICgcutt
https://dl.doubtnut.com/l/_mtHacVxz2bwj


Answer: D

Watch Video Solution

7. Which one of the following is not a sulphide ore ?

A. Magnetite

B. Iron pyrites

C. Copper glance

D. Sphalerite

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_mtHacVxz2bwj
https://dl.doubtnut.com/l/_HX9rnf10Cq7f


8. Roasting of sulphides gives the gas X as a by product. This

is a colourless gas with choking smell of burnt sulphur and

causes great damage to repiratory organs as a result of acid

rain. Its aqueous solution is acidic, acts as reducing agent and

its acid has never been isolated. The gas X is :-

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CO2

SO3

H2S

SO2

https://dl.doubtnut.com/l/_UCfVQTVWetU6


9. Sphalerite is concentrated by

A. gravity separation

B. froth floatation

C. magnetic separation

D. hydraulic washing

Answer: B

Watch Video Solution

10. In the extraction of copper from its sulphide ore, the metal

finally obtained by the reduction of cuprous oxide with -

A. Copper (I) sulphide (Cu2S)

https://dl.doubtnut.com/l/_wVOlBmDKsKmd
https://dl.doubtnut.com/l/_tAo2AtzlxHDM


B. sulphur dioxide 

C. iron sulphide (FeS)

D. carbon monoxide (CO)

Answer: A

Watch Video Solution

(SO2)

11. 'Metals are usually not found as nitrates in their ores''. Out

of the following two (I ) reasons which is//are true for

the above obervation? 

.Metal nitrates are highly unstable. 


 Metal nitrates are highly soluble in water.

A. A and B are false

B. A is false but B is true

and II

I

II.

https://dl.doubtnut.com/l/_tAo2AtzlxHDM
https://dl.doubtnut.com/l/_zVOG63Kji6NY


C. A is true but B is false

D. A and B are true.

Answer: B

Watch Video Solution

12. Match the items of Column I with item of Column II and

assign the correct code. 

Watch Video Solution

https://dl.doubtnut.com/l/_zVOG63Kji6NY
https://dl.doubtnut.com/l/_tYaYCHKW9JnZ


13. Extraction of gold and silver involves leaching with 

ion.silver is later recovered by:

A. distillation

B. zone refining

C. displacement of Zn

D. liquation

Answer: C

Watch Video Solution

CN −

14. Considering Ellingham diagram, which of the following

metals can be used to reduce alumina?

https://dl.doubtnut.com/l/_hirOFMJh2wW3
https://dl.doubtnut.com/l/_N5nmbj05sIzQ


A. Fe

B. Zn

C. Mg

D. Cu

Answer: C

Watch Video Solution

15. Which one is malachite from the following

A. 

B. 

C. 

D. 

CuCO3. Cu(OH)2

CuFeS2

Cu(OH)2

Fe3O4

https://dl.doubtnut.com/l/_N5nmbj05sIzQ
https://dl.doubtnut.com/l/_zHHyNDnWL6Fa


Answer: A

Watch Video Solution

16. Identify the reaction that does not take place in a blast

furnace

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2Fe2O3 + 3C → 4Fe + 3CO2

CO2 + C → 2CO

CaCO3 → CaO + CO2

CaO + SiO2 → CaSiO3

https://dl.doubtnut.com/l/_zHHyNDnWL6Fa
https://dl.doubtnut.com/l/_B8uCkkIFuWk8
https://dl.doubtnut.com/l/_C078YAG7KEnE


17. In the alumino-thermite process, Al acts as :

A. Reduction agent

B. Oxidising agent

C. Catalyst

D. Electrolyte

Answer: A

Watch Video Solution

18. In view of the signs of  for the following reactions : 


 


, 


which oxidation states are more characteristic for lead and tin

?

ΔrG
∘

PbO2 + Pb → 2PbO, ΔrG
∘ < 0

SnO2 + Sn → 2SnO, ΔrG
∘ > 0

https://dl.doubtnut.com/l/_C078YAG7KEnE
https://dl.doubtnut.com/l/_AQrZAs6ZSB78


A. For lead , for tin 

B. For lead , for tin 

C. For lead , for tin 

D. For lead , for tin 

Answer: C

Watch Video Solution

+2 +2

+4 +4

+2 +4

+4 +2

19. Which method of purification is represented by the

following equation? 

A. Cupellation

B. Poling

T i(s) + 2I2(g)
523K

−−→ T il4(g)
1700K

−−−→ T i(s) + 2I2(g)

https://dl.doubtnut.com/l/_AQrZAs6ZSB78
https://dl.doubtnut.com/l/_SOl8uLTHvIs6


C. Van Arkel

D. Zone refining

Answer: C

Watch Video Solution

20. The function of potassium ethyl xanthate in froth

floatation process is to make the ore

A. attracted towards water

B. water repellant

C. lighter

D. heavier

Answer: B

https://dl.doubtnut.com/l/_SOl8uLTHvIs6
https://dl.doubtnut.com/l/_W0lguGwgYzg9


View Text Solution

21. The first step in the extraction of copper from copper

pyrites

A. reduction by carbon

B. electrolysis of ore

C. roasting of ore in 

D. magnetic separation

Answer: C

View Text Solution

O2

22. The statement that is not correct is

https://dl.doubtnut.com/l/_W0lguGwgYzg9
https://dl.doubtnut.com/l/_jLnr8iI2qLCX
https://dl.doubtnut.com/l/_kM4fZUgpLpCA


A. a furnace lined with haematite is used to convert cast

iron to wrought iron.

B. collectors enhance the wettability of mineral particles

during froth floatation.

C. in vapour phase refining the metal should form volatile

compound.

D. copper from its low grade ores is extracted by

hydrometallurgy.

Answer: B

View Text Solution

23. Roasted copper pyrite on smelting with sand produces

https://dl.doubtnut.com/l/_kM4fZUgpLpCA
https://dl.doubtnut.com/l/_bjhyWf4cKnFb


A.  as fusible slag and  as matte

B.  as in fusible slag and  as matte

C.  as fusible slag and  as matte

D.  as infusible slag and  as matte

Answer: A

View Text Solution

FeSiO3 Cu2S

CaSiO3 Cu2O

Ca3(PO4)2 Cu2S

Fe3(PO4)2 Cu2S

24. In the correct of the Hall-Heroult process for the

extraction of , which of the following statements is false ?

A.  is reduced at the cathode to form Al.

B.  serves as the electrolyte.

C. CO and  are produced in this process.

Al

Al3 +

Na3AlF6

CO2

https://dl.doubtnut.com/l/_bjhyWf4cKnFb
https://dl.doubtnut.com/l/_oWMfrxriiFrM


D.  is mixed with  which lowers the melting

point of the mixture and brings conductivity.

Answer: B

Watch Video Solution

Al2O3 CaF2

25. Which one of the following ores is the best concentrated

by froth floatation method?

A. Magnetite

B. Siderite

C. Galena

D. Malachite

Answer: C

https://dl.doubtnut.com/l/_oWMfrxriiFrM
https://dl.doubtnut.com/l/_u9SCTPF3Op1a


Watch Video Solution

26. What is the composition of 'Copper matte'?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Cu2S + FeS

Cu2S + Cu2O

Cu2S + FeO

Cu2O + FeS

27. The complex formed when  is leached from bauxite

using concentrated NaOH is :

Al2O3

https://dl.doubtnut.com/l/_u9SCTPF3Op1a
https://dl.doubtnut.com/l/_k7GftW0lzWPJ
https://dl.doubtnut.com/l/_XbZLBT1Bn6tP


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Na[Al(OH)4]

NaAl2O4

Na2[Al(OH)3]

Na2AlO2

28. The metal extracted by leaching with cyanide is

A. Cu

B. Al

C. Na

D. Ag

https://dl.doubtnut.com/l/_XbZLBT1Bn6tP
https://dl.doubtnut.com/l/_CnhDoVjXrIsw


Answer: B

Watch Video Solution

29. Purification of aluminium is called

A. Hall's process

B. froth floatation Process

C. Serpeck's process

D. Hoope's process

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_CnhDoVjXrIsw
https://dl.doubtnut.com/l/_hchHHTSvOQp0


30. Electrolytic refining's is ued to purify which of the

following metals?

A. Cu and Zn

B. Ge and Si

C. Zr and Ti

D. Zn and Hg

Answer: A

Watch Video Solution

31. the common impurities present in bauxite are

A. CuO

https://dl.doubtnut.com/l/_D09ck4rJmK6o
https://dl.doubtnut.com/l/_5BaEFPQN7DZ1


B. ZnO

C. 

D. 

Answer: C

Watch Video Solution

Fe2O3

Cr2O3

32. Carnallite is an ore of

A. K

B. Na

C. Mg

D. (a) and (c)

https://dl.doubtnut.com/l/_5BaEFPQN7DZ1
https://dl.doubtnut.com/l/_0iFcjZh2SW1p


Answer: D

Watch Video Solution

33. Which of the following is not a mineral of iron?

A. Corundum

B. Limonite

C. Magnetite

D. Haematite

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_0iFcjZh2SW1p
https://dl.doubtnut.com/l/_si2C8zZqvMVX


34. The one that is not a carbonate ore is:

A. bauxite

B. siderite

C. calamine

D. malachite

Answer: A

Watch Video Solution

35. Match the refining methods (Column I) with metals

(Column II). 

https://dl.doubtnut.com/l/_g3zjneJkkHJY
https://dl.doubtnut.com/l/_5qFY7q1jsM3o


A. (I) - (B), (II)-(C), (III) - (D), (IV) - (A)

B. (I) - (B), (II) - (D), (III) - (A), (IV)-(C)

C. (I) - (C), (II) - (A), (III) - (B), (IV) - (D)

D. (I) - (C), (II) - (D), (III) - (B), (IV) - (A)

Answer: D

Watch Video Solution

36. The correct statement is :

https://dl.doubtnut.com/l/_5qFY7q1jsM3o
https://dl.doubtnut.com/l/_2Tr9cZU8LzF4


A. leaching of bauxite using concentrated NaOH solution

gives sodium aluminate and sodium silicate

B. the blistered appearance of copper during the

metallurgical process is due to the evolution of 

C. pig iron is obtained from cast iron

D. the Hall-Heroult process is used for the production of

aluminium and iron

Answer: A

View Text Solution

CO2

37. The pair that does NOT require calcination is :

A. ZnO and MgO

https://dl.doubtnut.com/l/_2Tr9cZU8LzF4
https://dl.doubtnut.com/l/_09LHJp3r9Tdt


B. 

C. 

D. 

Answer: A

Watch Video Solution

Fe2O3 and CaCO3. MgCO3

ZnO and Fe2O3. xH2O

ZnCO3 and CaO

38. The reaction that does NOT define calcination is :

A. 

B. 

C. 

D. 

ZnCO3

Δ
−−→ ZnO + CO2

Fe2O3. xH2O
Δ

−−→ Fe2O3 + xH2O

CaCO3. MgCO3

Δ
−−→ CaO + MgO + 2CO2

2Cu2S + 3O2

Δ
−−→ 2Cu2O + 2SO2

https://dl.doubtnut.com/l/_09LHJp3r9Tdt
https://dl.doubtnut.com/l/_4lkVrEFgfQVk


Answer: D

Watch Video Solution

39. Match the ores (Column A) with the metals (Column B) : 

A. I-B , II-C , III-D , IV-A

B. I-C , II-D , III-A , IV-B

C. I-C , II-D , III-B , IV-A

D. I-A , II-B , III-C , IV-D

Answer: C

https://dl.doubtnut.com/l/_4lkVrEFgfQVk
https://dl.doubtnut.com/l/_yXKVzO1VKL97


Watch Video Solution

40. in the Hall -Heroult process, aluminium is formed at the

athode , the cathode is mode out of :

A. Carbon

B. Copper

C. Platinum

D. Pure aluminium.

Answer: A

Watch Video Solution

41. The correct statement is

https://dl.doubtnut.com/l/_yXKVzO1VKL97
https://dl.doubtnut.com/l/_iDeQzvRcZOFD
https://dl.doubtnut.com/l/_uYhUg0QdbP7B


A. zincite is a carbonate ore

B. aniline is a froth stabilizer

C. zone refining process is used for the refining of titanium

D. sodium cyanide cannot be used in the metallurgy of

silver

Answer: B

Watch Video Solution

42. Assertion : For the extraction of iron, haematite are is

used. 

Reason : Haematite is a carbonate are is used

A. only the reason is correct

https://dl.doubtnut.com/l/_uYhUg0QdbP7B
https://dl.doubtnut.com/l/_IEAewokpI6fF


B. both the assertion and reason are correct and the

reason is the correct explanation for the assertion.

C. only the assertion is correct

D. Both the assertion and reason are correct, but the

reason is not the correct explanation for the assertion.

Answer: C

Watch Video Solution

43. The ore that contains both iron and copper is :

A. malachite

B. dolomite

C. azurite

https://dl.doubtnut.com/l/_IEAewokpI6fF
https://dl.doubtnut.com/l/_YFibb7RskpIV


D. copper pyrites

Answer: D

Watch Video Solution

44. Hall-Heroult's process is given by :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Cr2O3 + 2Al → Al2O3 + 2Cr

Cu2 + (aq) + H2(g) → Cu(s) + 2H + (aq)

ZnO + C
Coke1673K
−−−−−−→ Zn + CO

2Al2O3 + 3C → 4Al + 3CO2

https://dl.doubtnut.com/l/_YFibb7RskpIV
https://dl.doubtnut.com/l/_BXOkrSx3ON2u


45. Extraction of zinc from zinc blende is achieved by:

A. Electrolytic reduction

B. Roasting followed by reduction with carbon

C. Roasting followed by reduction with another metal

D. Roasting followed by self reduction.

Answer: B

Watch Video Solution

46. Oxidation states of the metal in the minerals haematite

and magnetite respectively are

A. II, III haematite and III in magnetite

https://dl.doubtnut.com/l/_alOtl2y5HRS6
https://dl.doubtnut.com/l/_FF7eaOjEuHMU


B. II, III in haematite and II in magnetite

C. II in haematite and II, III in magnetite

D. III in haematite and II, III in magnetite

Answer: D

Watch Video Solution

47. In the cyanide extraction process of silver from argentite

ore, the oxidising and reducing agents are

A.  and  respectively

B.  and  dust respectively

C.  and  dust respectively

D.  and  respectively

O2 CO

O2 Zn

HNO3 Zn

HNO3 CO

https://dl.doubtnut.com/l/_FF7eaOjEuHMU
https://dl.doubtnut.com/l/_whPtRHBJKbWv


Answer: B

Watch Video Solution

48. Sulphide ores are common for the metals

A.  and 

B.  and 

C.  and 

D.  and 

Answer: A

Watch Video Solution

Ag, Cu Pb

Ag, Cu Sn

Ag, Mg Pb

Al, Cu Pb

https://dl.doubtnut.com/l/_whPtRHBJKbWv
https://dl.doubtnut.com/l/_J2JGkbjgwPsP


Competion File Objective Questions Multiple Choice Question

With More Than One Correct Answers

49. Calamine, malachite, magnetite and cryolite, respectively,

are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ZnCO3, Cu2CO3(OH)2, Fe3O4, Na3AlF6

ZnCO3, CuCO3, Fe2O3, Na3AlF6

ZnSO4, CuCO3, Fe2O3, AlF3

ZnCO3, CuCO3Cu(OH)3, Fe3O4, Na3AlF6

https://dl.doubtnut.com/l/_GfqKMtnANFjK


1. Leeching process can be used for concentration of ores of

A. aluminium

B. Copper

C. gold

D. iron

Answer: A::C

Watch Video Solution

2. Van Arkel method of refining is used for

A. zorconium

B. silicon

https://dl.doubtnut.com/l/_NWnYfLmj6YBH
https://dl.doubtnut.com/l/_qPufcvRfI6Zj


C. germanium

D. titanium

Answer: A::D

Watch Video Solution

3. Which of the following is/are not example of thermite

reaction ?

A. 

B. 

C. 

D. 

Answer: C::D

3Mn3O4 + 8Al → 4Al2O3 + 9Mn

Cr2O3 + 2Al → Al2O3 + 2Cr

2Cu2O + Cu2S → 6Cu + SO2

2HgO + HgS → 3Hg + SO2

https://dl.doubtnut.com/l/_qPufcvRfI6Zj
https://dl.doubtnut.com/l/_iqSOYXqLvaKn


View Text Solution

4. Which of the following oxide cannot be reduced to metal by

carbon ?

A. ZnO

B. 

C. CuO

D. MgO

Answer: A::C

View Text Solution

Al2O3

5. Extraction of metal from the ore cassiterite involves

https://dl.doubtnut.com/l/_iqSOYXqLvaKn
https://dl.doubtnut.com/l/_qu2bnycIoMVq
https://dl.doubtnut.com/l/_hRRXZzw4L3r7


A. carbon reduction of an oxide are

B. self -reduction of a sulphide ore

C. removal of copper impurity

D. removal of iron impurity.

Answer: B::D

Watch Video Solution

6. Upon heating with  , the reagent(s) that give copper

metal is/are

A. 

B. 

C. 

Cu2S

CuFeS2

CuO

Cu2O

https://dl.doubtnut.com/l/_hRRXZzw4L3r7
https://dl.doubtnut.com/l/_XzDXhg3RxtMI


D. 

Answer: B::C::D

Watch Video Solution

CuSO4

7. Copper is purified by electrolytic refining of bliter copper

.The current stetement about this process is (are):

(i) impure strip is used as cathode


(ii)acidified aqueous  is used as electrolyte


(iii) pure  deposits at eathode


(iv) impurities settle as anode -mud

A. impure Cu strip is used as cathode

B. acidified aqueous  is used as electrolyte

C. pure Cu deposite at cathode

Cu

CuSO4

Cu

CuSO4

https://dl.doubtnut.com/l/_XzDXhg3RxtMI
https://dl.doubtnut.com/l/_OIKaEPKD7cG3


D. impurities settle as anode-mud

Answer: B::C::D

Watch Video Solution

8. Extraction of copper from copper pyrite  involves

A. crushing followed by concentration of the ore by froth-

floatation

B. removal of iron as slag

C. self-reduction step to produce 'blister copper' following

evolution of 

D. refining of 'blister copper' by carbon reduction

(CuFeS2)

SO2

https://dl.doubtnut.com/l/_OIKaEPKD7cG3
https://dl.doubtnut.com/l/_EfHMDK6HuZIk


Answer: A::B::C

Watch Video Solution

9. The major role of fluorpar (  ) which added in small

quantities in the electrolyte reduction of alumina dissolved in

fused cryolite  ) is

A. as a catalyst

B. to make fused mixture conducting

C. to lower the melting temperature of the mixture

D. to decrease the rate of oxidtion of carbon at anode.

Answer: B::C

Watch Video Solution

CaF2

(N3AlF6

https://dl.doubtnut.com/l/_EfHMDK6HuZIk
https://dl.doubtnut.com/l/_KZaZuPOGOW74


Competion File Matrix Match Type Questions

10. The cyanide process of gold extraction involves leaching

out gold from its ore with  in the presence of Q in water

to form R . Subsequently , R is treated with T to obtain Au and

Z. Choose the correct option (s)

A. R is 

B. T is Zn

C. Q is 

D. Z is 

Answer: B::C::D

Watch Video Solution

CN −

[Au(CN)4]
−

O2

[Zn(CN)4]
2 −

https://dl.doubtnut.com/l/_KZaZuPOGOW74
https://dl.doubtnut.com/l/_8R7ld4ROfs7K


1. Match the metal in Column I with the ores in Column II 

Watch Video Solution

2. Match the extraction process in column I with the metal in

column II. 

View Text Solution

https://dl.doubtnut.com/l/_4swuc6fUfGmG
https://dl.doubtnut.com/l/_j16tWVoSP5Ki


Competion File Integer Type Numerical Value Type Questions

3. Match the anionic species given in Column I that are

present in the ore(s) given in Column II. 

Watch Video Solution

1. Amongst following, total number of metals which occur in

native state in the earth's crust are : Pt, Ni, C, Hg, S, Zn, Au, Pb

Watch Video Solution

https://dl.doubtnut.com/l/_gCmHPXFUViq8
https://dl.doubtnut.com/l/_zb1PpRWWU7ng


2. Amongst the following the metals which are roasted to

convert them into their correspondign metal oxides are : Zinc

blende, iron pyrits, alumina , calamine, copper pyrites, galena ,

pyrolusite, malachite.

Watch Video Solution

3. Amongst the following the oxide ores are : 

pyrolusite , haematite, bauxite, zincite, cinnabar, magnesite,

cuprite, azurite, siderite.

Watch Video Solution

4. Amongst the following the metals which can be refined by

vapour phase refining are : 

https://dl.doubtnut.com/l/_i0hDLdgWtGAs
https://dl.doubtnut.com/l/_TNweh1CPxZOw
https://dl.doubtnut.com/l/_2KolYcmogFLA


Zn, Cu, Ti, Ni, Co, Al, Zr

Watch Video Solution

5. Galena (an ore) is partially oxidized by passing air through

it at high temperature. After some time, the passage of air is

stopped, but the heating is continued in a closed furnace

such that the contents undergo self-reduction. The weight (in

kg) of  produced per kg of  consumed is ____. (Atomic

weights in g : )

Watch Video Solution

Pb O2

mol1 O = 16, S = 32, Pb = 207

https://dl.doubtnut.com/l/_2KolYcmogFLA
https://dl.doubtnut.com/l/_1Yrn4ocTR0ys

